RETEIER S RETEIESHE
Screw-on Hinge Screw-on Hinge

B

Index

4% Hinges

N

oy
2

X

§

B

Index

235 Hinges

M5 SSLEBETERE Countersunk Screw M5 M6 TSLEZET[EZE Countersunk Screw M6
=) I
e 5
o N — 6 —
e
ountersun crew S '% MG;E%?\?%]- y—— 1 g
5 180 o7 25 ‘P | Countersunk Screw M6 180°
l ‘ l | l ] -
i | 4 1 e ] ,
| | A ~u. ‘
[ o \ _ -
I e J7~ I s 111 = s (O] = ;
N |
| - 1
' [ A @ @ 5
—| . o —_ | o ) |
! y _© - X ‘ 1 1 y ‘
i ' A%
q;‘;b “ - 25 B 30 |
NYZRN) ——
® 50
Yool 40 — 12 .
MERAIME TSN MERAMEREN
SUS material upon request SUS material upon request
N 9 o 1.5
M5 $EERIZHE With Threaded Studs M5 ———— M6 $ZE#REZ+E With Threaded Studs M6 ———

r— 6
o
5 180
! ‘ 180°
] i d ‘ i ‘ ]
| |
o O 1 |
‘ ‘ ! ‘ T - - i - - - -
ol v _|—_ [ N N _ \ - To) —
< N = : : \ _
‘ ‘ 3 s —FF 1 1 =8 s (O 2
“ “ | | <
| i i i A J —ar - ‘ - —ar - !
T N J ; y— - _ _ |
- 5 | | !
. N—1 |
30
- 40 - - -
- - 12 N——
12
HEE , FEENSASRNESTE , RE IR e BRI R HEE , EEHNE N ENEMAIRT | R R e R BN SR
Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome

FEATE Finish M5 LB TERE Countersunk Screw M5| M5 $ZEERIZFE With Threaded Studs M5 XME4ATE Finish M6 iTEL4BETERE Countersunk Screw M6| M6 $ZHRIZFE With Threaded Studs M6
IE5¥82 Black Powder Coated 2101-400-10 2101-401-20 I5¥8E2 Black Powder Coated 2101-500-10 2101-501-20
=42 Bright Chrome 2101-400-30 55 Bright Chrome 2101-500-30
TEEHM 316 SUS 316 2101-400-316 T455M 316 SUS 316 2101-500-316
D8R Textured Chrome Plated 2101-401-79 E5D§E8% Textured Chrome Plated 2101-501-79




RETEIESHE
Screw-on Hinge

RETEIER S
Screw-on Hinge

B

Index

4% Hinges

N

X

%/

M6 TSLB5TEE Countersunk Screw M6

=

7

[
!

50

280
&
U
90°

43.0

@6.3X90°

il
1
|
63.0
(>~ (\@

180 3
—M0 I B VN
i !
[ I] )

B

Index

235 Hinges

e sy
| 1l I NN
© A K/ AN |/ @ /] \) M — —]
! <\90/, 120
RSN
SUS material upon request
— 1 - 115

A
Y

[
)
!

50
30
|
|
|
|

= AQ

63.0

\
43.0
©

. 28.0

A
I
£ !
K
150><
I

12

8
g
I N—
\

o

o

HEE , EEHNEERNEITIRTE | RECIEAIEE R ERE

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome.

HEE , RSB EHARE | RE IR B AR

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome.

FE4E Finish

M6 STTSLIBET[EE Countersunk Screw M6

M6 $ZEFRIZHE With Threaded Studs M6

82 Black Powder Coated

2101-576-10

2101-5761-20

=$8 Bright Chrome

2101-576-30

45BN 316 SUS 316

2101-576-316

IE5/DHE$E Textured Chrome Plated

2101-5761-79

FRERLIE Finish

M6 S8 T[EZE Countersunk Screw M6

M6 £EERIZ4E With Threaded Studs M6

IE5¥8 2 Black Powder Coated

2101-563-10

2101-5631-20

Z=$8 Bright Chrome

2101-563-30

TEEEN 316 SUS 316

2101-563-316

5/ HE4E Textured Chrome Plated

2101-5631-79




BT EERHE

Screw-on Hinge

BT EIERSE

Screw-on Hinge

BR
Index

$345% Hinges

M8 SLZETERE Countersunk Screw M8

M8ILSLIRET

A ‘

©

©)

[
|

@,

o8] |
o> |
[

36

60

|

}

MRS ER

SUS material upon request

45

60
36
|

14

=1 O
N_[—P
8

M8 $EfRIZHE With Threaded Studs M8

(

:
|
i
|
o

Uyvg |

el

MRS TER

SUS material upon request

HET , EEHRNE BN | REEAT B AR

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome

RMEEIE Finish M8 LT [ERE Countersunk Screw M8| M8 $EEHRIZAE With Threaded Studs M8
IE3%822 Black Powder Coated 2101-600-10 2101-601-20
=& Bright Chrome 2101-600-30

454N 316 SUS316

2101-600-316

IED5EES Textured Chrome Plated

2101-601-79

REALIE Surface M8 $Ei/ZHE With Threaded Studs M8
FREIER Black Textured Powder Coated 2101-691-20
IE5DHE4% Textured Chrome Plated 2101-691-79
- 120 -
45 45

60
36

15
.

—
14

HEE , EFEREAEREMAETE  REE AR RN

Zinc die,m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome

ZRMEALIE Finish

M8 $EERIZFE With Threaded Studs M8

FREZE Black Textured Powder Coated

2101-61201-20

IE5DHE$E Textured Chrome Plated

2101-61201-79

B

Index

235 Hinges



BT EERHE

Screw-on Hinge

BR
Index

$345% Hinges

Ll

N

M6 JTSLAZETEZE Countersunk Screw M6

76

28 28

g 8§ -H—— —-—
|
‘ M 4-26.6X90°
|
G
S ] T
o
15
76
76
56
18 ’ 18
oo
S~ &
r Q
S M &
| :
| \@00\ |
o @ JRESA R @ JE BN,
15
76

HET , EEHRE SRR E A IR B RS | MEAM SIS

Zinc die,m.s. zinc plated or SUS pin,black powder coated or bright chrome,SUS material upon request

FERLE Finish

P94~ M6 STTSkIRE2F,
4 Countersunk Screw hole M6

73 M6 SSkiRZ2 3,
6 Countersunk Screw hole M6

Es¥B2 Black Powder Coated

2101-6764-10

2101-6766-10

RETEIESHE
Screw-on Hinge

14.5
:
Ve ©
-
% ﬁ
== | = —is/s
%
N
32 32 8
90 15

HEE , BN EREHAERT , RE AT 8 AN

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or textured chrome plated

M8 $ZEEEHE With Threaded Studs M8
FMEALEE Finish EFFLeft HFF Right
IE¥EE Black Powder Coated 2101-961-20L 2101-961-20R
4R Textured chrome plated 2101-961-79L 2101-961-79R

20

~
Z

180 %

ZHEEER R R

Nylon black hinge leaves & covers,acetal black hinge pin and pin insert

=$& Bright Chrome

2101-6764-30

2101-6766-30

2104-0-90 2104-5-90

]

BR
Index

235 Hinges



BT EERHE

Screw-on Hinge

BR
Index

4% Hinges

7
X

§

=

4-MoEIRL

211.2
x
N
6.3
ATUKFLE

1.5

53.5

53.5

M6 JTSKIRETEE

Countersunk Screw M6

HEE , EHNSEREMIIRT | REERT e RS

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome

BT EIERSE

Screw-on Hinge

M6 TTSLEZETESE Countersunk Screw M6

REALIE Finish M6 STKI2ETEIE Countersunk Screw M6| M6 $ZE#RIZ4E With Threaded Studs M6
51¥B2E Black Powder Coated 2102-540-10 2102-541-20

=$& Bright Chrome 2102-540-30

IE5D4E$E Textured Chrome Plated 2102-541-79

76

50 12
6
2
GTon ] |
| ! |
(
HHH sl @
N —— / ——x r— ‘
|
| |
& 6
\ Y, u)
212 /\4-96.5
5 145 12
6
[ )
(
,h L LI © ii%;}
——x d——x S —— - ‘
|
| -l
\S N, )

HEE , EHRNR NSRRI | RESER R RS

76

=

B

Index

2.75
f
v o~
= 8
180°; )
50
30
s N

76

MeX4iE{HiREL

Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or chrome bright

5B Black Powder Coated 2102-760-10 2102-761-20
Z=4$& Bright Chrome 2102-760-30
B HE4E Textured Chrome Plated 2102-761-79

235 Hinges



RETEIER S RETEIESHE
Screw-on Hinge Screw-on Hinge

B

Index

1% Hinges

%5

X

%/

e, s =

= — 4 '97
s 670 T o =/e)

L]
B
|

-
u=

B

Index

235 Hinges

, _ |PAwashe? ‘ ‘69 -
o . o 0 - o 1 Ty Ire) Ol _ = <.
34 ‘ — = i o ~ ‘ J+\ N NIThE I
180°;) | @ *Q}
/ \ ‘ 10 “W ‘ ‘
\SS | © |
-] ot ==
| G \ i | FART
‘ 135 Panel Cutout
| |
mimmi 5 - - 3 7
‘ _
| =) P =
| = SRl Eal
\\/ % F&‘ = E
50 8.1\ —— 5? -
52 = o
ZYERER IR R
Nylon black hinge leaves & covers,acetal black hinge pin and pin insert
HA®. BER. IEWEHPATEEH |
Zinc die,black textured powder coated, SUS pin, PA clamping pin -
0.7 2105-08007-90 2105-11507-90 2105-1507-90
1.1 2105-08011-90 2105-11511-90 2105-15011-90 %R Left side 2107-L
1.7 2105-08017-90 2105-11517-90 2105-15017-90 HZ%ERY Right side 2107-R
KBYLarge Size
|—| i
19.5
E7T] ‘!- i [ 57 7 38
= o | 38 5 5.2 6 >
] ’ . I 1 A‘—Q’%'
ol fe -k o | o
LO| O |
o « 22 - ; i —
3 3 g ER O 1L e 1]
L | | —] | |
ol Thed - o | &
| 1 - JAREEY
@ Adjustment screw
| /\EUSmall Size
15 365 365
25 25 & 512,
50 =2 =2 12 e‘-’e 125125
15 relL! ® el & N
— R —
7\ 32 &% 32 @ ot | o
ks — ks - Hel @ Hel [ @ B ang E
—~l 42838 /| [15 s o) < | -
[ 35 . I RiE) M7 AFLE FARYT
e i 4- M5 1RE TR Round screw hole Hex 4mm screw hole Panel Cutout
HIRIERY 1@ With thread holes 1@
With thread studs WESITE  ZAEEE 4 BRI VDRNESTARE | RS
Hinge Leaves: Acetal Hinge Pin: Polycarbonate Adjustment screw & nut: stainless steel
HES , BEANSN SN MFIARE | FREIE O] IR AN
Zinc die, m.s. zinc plated or SUS pin and threaded studs, black powder coated or bright chrome.
[EFL2 arav=:E bl Ik iE) vav=2Eikic)
Round screw hole | Hex 4mm screw hole Round screw hole | Hex 4mm screw hole
ARY (2t ) Version A ( left) 2106-501-L20 2106-500-L10 ABLarge Size | 2112-01-BR 2112-01-BS 2112-01-WR 2112-01-WS
B & (%) Version B ( Right) 2106-501-R20 2106-500-R10 /\EUSmall Size 2112-02-BR 2112-02-BS 2112-02-WR 2112-02-WS




RETEIER S
Screw-on Hinge

IRETEIERSHE
Screw-on Hinge

B

Index

4% Hinges

N

oy
2

X

§

IR |
ﬁ Rivet on or screw-on ﬁ Ei
=) ~ =/g) @
D(C\UERE:
I | N | | L
=TI 4
[ap]
8 N
~ ( fan)
g;i I
=i 3 5 . J |
~ 8 8w 1T ‘ N
S
< «
S
i 25 3 ‘ @ Y,
10.5
62.2 36 6
60 60
19

A (753 i ;
LB (F%E) Version L(Left) REL (f5%%) Version R(Right)

HEe , EERRERE | RE R REE

zinc die,m. s. zinc plated or SUS pin,black powder coated or bright chrome

RELLIE Finish T Left A% Right
IEE¥BTCYEE Black Smooth Powder Coated 2115-76604-10L 2115-76604-10R

=4$& Bright Chrome

EEPA+CF B4, FEEFINEE
Hinge polyamide GF 30% black, m.s. zinc plated pin

2115-76604-30L 2115-76604-30R

Index

B

235 Hinges

2113-01 |

40.7 91.5

9.4

]

i '%H
o I (r
E.i C
N 2

L 249 45

N
|
|

24.0 24.0

)

g ——-

24.0
36.0

=
108
A
<

79.2
\

7\
N
&
S
60

64.0

TEEHNEANEN 10 19.3

M.S. zinc plated or stainless steel

FEEPA+CF 1Rk, MR

FF Left

BFF Right

TREESN 304 SUS 304

2114-01-304L

2114-01-304R

Hinge polyamide GF 30% black, stainless steel pin

$R5EEE M.S Zinc Plated

2114-01-01L

2114-01-01R

2116-01-90




IRETEEfE/EfchE B BERHE ]
Screw-on Torque Hinge Screw-on Hinge

B

Index

4% Hinges

N

A
2

X

§

KE
I_ﬁl Large size
=(e)
50.8 64.0 64.0
200 200 20.0 . 20.0

8.4 34 I iBE
‘ |

? N a8t ; (@ D +

A . olo i
S A = 90° iF 180° 3l I o 3|
~ /] : K REVERSE FORWARED %)

57.1

+
D
+

17

) O E
N d

45

12.7

oM

VoS

REPAMZETEIERHE FE EE NN

Screw-on hinge polyamide GF black,pin m.s.zinc plated

4+0.

M6 JTELI245TEE Countersunk Screw M6 M6 $ZEHRIZFE With Threaded Studs M6
2120-640-90 2120-641-90

Bx

Index

4% Hinges

N

e
2

X

§

FHARYT

Panel cutout INEY

Small size

48.0 48.0
15.0 15.0 15.0 15.0
]

HESIERRHEE | FHENHEH

L]
® T
Zinc screw-in torque hinge,SUS pin | )

a
U
| |

2
7
I‘i’ |
o
233
15.0
-
]

oo Q oo
<o ‘ @5.‘3’3 <o ‘
< [ (% < [
PRI Black Textured Powder Coated Z8 Natural @ ﬁ%
ESERIZEN Free Operating 2118-100-20 2118-100-11 [ 1] L1 [1
1.8 2118-118-20 2118-118-11
4-M5
2.3 2118-123-20 2118-123-11 o =
3.4 2118-134-20 2118-134-11 ‘ © ‘
o o
o Zau | o 1
FEIRTHE N.m RFEHAZE N.m AR Xt ! e ! =
Forward Torque N.m Reverse Torque N.m Black Textured Powder Coated Natural ~
2.3 14 2118-123F-20 2118-123F-11
3.4 2.0 2118-134F-20 2118-134F-11 B PARETE AT, SN
45 27 2118-145F-20 2118-145F-11 Screw-on hinge polyamide GF black,pin m.s.zinc plated
1.4 2.3 2118-114R-20 2118-114R-11
2.0 3.4 2118-120R-20 2118-120R-11 M5 STTSKIRETERE Countersunk Screw M5 M5 $EHRI24E With Threaded Studs M5
2.7 4.5 2118-127R-20 2118-127R-11 2120-480-90 2120-481-90




RETEER S RETEIERSHE
Screw-on Hinge Screw-on Hinge

B

Index

4% Hinges

N

oy
2

X

§

Bx

Index

&#345% Hinges

2121-ABCEY
| .j = 300 40 | ﬁ
= 005y @ ? 0
300 | /Y ,T/ S
Q
@) LN E: ®
K2 SEE NE
©) \ e= jlj [ C SR
28 -2 op—+
8l < Y=
@ -3
| 50.0 55.0
S 135.0
(%3< D —
; 17.0
S
N R
2-M5iTTSLARET - o
Countersunk Screw 2-M5 ~ 4-MBTTSLIZET
N -M8;TTSLEE
T 0 o Countersunk Screw 4-M8
| EE O
2 @)2 % <
AR Version A BEY Version B A EIDIZETEIERGE AN AT
3D-screw-on hinge zinc die,shaft and grub screw stainless steel
XEAME Finish % Left A% Right
~ REZ Black textured Powder Coated 2122-01-20L 2122-01-20R
120.0 é? {5}
60.0 500 | /¥
(@] 120.0
Y 60.0 50.0
”) @ | @
© ©® | B
ol o <) g 4
3 < - B I I 2 I HIEE
@ g|g - - BT E
f ® '
$ D)
14.0
5? 17.0 M5iTkER 2 =
3 VS T
[T}
4-M5;TSKARET == Pg::\1 = } il o
Countersunk Screw 4-M5m_ T piiy | :-¢ S
‘ ABY H=4.5 &)
Q =N - .
0 ®)
0
. s 22 e 3
C&Y Version C CI H [ 5¢
7 e
S BEY H=15 &
FEE2DIZE]EE R IR A, E N R EMPATTE fm s B TE RS R RSReS PARE
2D screw-on hinge zinc die,shaft brass nickel plated;washer m.s.zinc plated and bush polyamide Screw-o& hinge zinc'die,pin stair’lless steel and bushes polyamide
REARLE Finish ABY Version A BE! Version B C2 Version C ZREALIE Finish AR Version A BE! Version B

AEEE Black textured Powder Coated 2121-01-20 2121-02-20 2121-03-20 FRTEIE Black textured Powder Coated 2124-01-20 2124-02-20




RETEERE
Screw-on Hinge

RETEIERSHE
Screw-on Hinge

B

Index

4% Hinges

N

A
2

X

§

40.0
| 30.0 I_I
ﬂo A ﬁo
| ' 70
@ |éﬂ)} 54 4-05.3
s|4+—-+—HH<| s 10.2
= | o | © @10
~ D)od) D) o AU
@] 1 P | smE =
MSITTSLERET D DD W Sgn| o —
M5HEEF © ® 2-03 < Q L3
e | = H3 2 o ¢ Qﬂ :
IR E e H 20 3M5 g o 7| \ SRIRIRE]
@@7 © .—ﬁ—U [ St o =0 With Threaded Studs
) \é ~1o
TER = EEINeMMEL
Standard Height:6mm higher

HESBEIEERE , AENHE

Screw-on hinge zinc die,SUS pin

FEE , THENHEMTIRE , RECE AR ARERESRELE (RIS )

Zinc die,SUS pin and with threaded studs,black textured powder coated or NM spray painting (matte silver)

B

Index

4% Hinges

N

e
2

X

§

FRERLE Finish M5EEHRIZET With Threaded Studs M5
Eﬁﬁéﬁextured Powder Coated 2123-01-20 2123-02-20 2B RAEE Black Textured Powder Coated 2125-701-20
4 Bright Chrome 2123-01-30 2123-02-30 KRR GRIEYE) NM spray painting (matte silver) 2125-701-52
TG54 316 SUS 316 2123-01-316
40.0 E‘ i
30.0 / o
I 125
e | & 101.6 254
= 1 I I | KB 2-C2
g | B
~
HO | R ) © @ © |2
= M5LSLARET ok I - -
MSHEES R -
) S}t 6-26.4
A @} PN Lg127
o o g =
= - o = I 44
== a1 g — J I 2l g =
= (A =
ORI NAMMEL RSN 1OMMEL
Height:4mm higher Height:10mm higher

HEE , TEREMNRE | RECIEAMICICREFREIARRAL7005

Zinc die,SUS pin and screw,black smooth powder coated or grey textured powder coated RAL7005

HESBEIEIERE , AN

Screw-on hinge zinc die,SUS pin

FEANE Finish

2%E Left Handle

4% Right Handle

RER

Black textured Powder Coated

2123-03-20

2123-04-20

IE¥BTCY 62 Black Smooth Powder Coated

2126-765-10L

2126-765-10R

& Bright Chrome

2123-03-30

2123-04-30

FREIR RAL7005 Powder Coated RAL7005

2126-765-53L

2126-765-53R




1R TELEREfEEchE
Screw-on Torque Hinge

BR
Index

235 Hinges

=

535
38
>
b & 90° 1F 180°
B (7 R j 7 REVERSE FORWARED
) <D
o _ I |
|
o L ‘ L
O——) )
e
14.2
535
) [
R 90° 1F 180°
Z =\ REVERSE FORWARED
O T —
E R I e
© ‘ -

f 7+0.2

12.5

14.2

FEEBRRHE , AN

Zinc screw-in torque hinge,SUS pin

ILFLEY Screw-on Hinge

MEERRIZIEEY With Threaded Studs M6

FREZE Black Textured Powder Coted

FREZE Black Textured Powder Coted

1.8 2127-5180-20 2127-5181-20
23 2127-5230-20 2127-5231-20
3.4 2127-5340-20 2127-5341-20

BT EIERSE

Screw-on Hinge

60
40
12.2
o e /—@/
g I
A ard $
% 1
SAREEM30411 R
SUS304 Material -
A5E5X304 SUS304 2128-600-304
102 i
63.5
o b«’<b{5(b
™~ )
{\/ ﬁ: -y g A
&l <
H B \p g
2, <[22 [ ir//// ~
(-] ‘o] 5
N §+_ _+_ .‘.\,’
.13 10.4 10.4 '
1752 Stroke 1772 Stroke ..i
TEPNE A EIN30414 R
M.S.Zinc plated or stainless steel '
2129-762-304 2129-762-01
=t
> o |—'
5-90° S ﬂ
[te} X \.\X © &0
© I 1 S\ I 7 |
ol | 35 70 L
o
21 21 39
/
) % &
& N v
@
(B 7
& N

£54X Steel casting, zinc plated

£54X Steel casting, zinc plated

2132-500-01

BR
Index

235 Hinges



IRETEEfE/EfchE T EER Bk 5% ]
Screw-on Torque Hinge Screw-on Torque Hinge

B

Index

235 Hinges

I_l M5 STSLIZETEE Countersunk Screw M5 |_I
= 2l
120 180 % 90° 1F 180°
‘ 90+0.2 . 16.1 40 REVERSE FORWARED
\2)
E Jo g 3 4-29.5 4-25.3 135
$ \ ¥ _‘ | |

25

(4
57
\
==
|
|
\
|
|
|
|
l
|
i
5 | 15
7
o :
40
|
|
i
\
|
\

ST (4 i
SUS304 Material [

BI04 SUS304 2133-120-304 M5 SEEHRIRHE With Threaded Studs M5 >

ﬁ 25 ‘

60 % 90° IE 180° ‘ ‘
56 REVERSE FORWARED (7 P N\
36 -G
= f-+—— e
(D) = :
- o ey
<l<e I M- | B . : : 7/
w3 K
A N
N
4-26.4 o - .
4 FESRRRYE , M
Zinc screw-in torque hinge,SUS pin
F3FREA%E N.m Symmetric N.m
e PA6+30%GF, B, il7&N., p— pr—
= AT PAG+30%GF Black , bearing steel M5 KRS TEIE M5 TERERERIE
1'Eb/§?;%§ﬁ§ﬁij$§ﬂaﬁﬂﬁ't ! 0 9 Countersunk Screw M5 With Threaded Studs M5 .
DEEERIF£20% ; — . iE
2 EGIRIRESEIRE | 2000007 ; BEHIZE5) Free Operating 2136-4000-20 2136-4100-20 SIS REEER « 2500008
0.9 2136-4009-20 2136-4109-20
Technical requirements: IEFAHAFE N.m REHE N.m 845 PA Black CYCLE LIFE:
1.Within 20% of torque specifcaton ; Forward Torque N.m Reverse Torque N.m B 14 2136-4014-20 2136-4114-20 Within 25 , 000 cycies static torque stay
2.Within 20 , 000 cycies static torque stay ; 23 0.3 2135-6023F-90 18 2136-4018-20 2136-4118-20 Within+20% of torque specifcaton.
0.3 2.3 2135-6003R-90 2.3 2136-4023-20 2136-4123-20

B

Index

235 Hinges



1R TELEREfEEchE
Screw-on Torque Hinge

iE
1.
HanidIREEUWE : 250000%

CYCLE LIFE:
Within 25 , 000 cycies static torque stay
Within+£20% of torque specifcaton.

M6 JSLiBETEZE Countersunk Screw M6

e

&z 90° 1E 180°
REVERSE FORWARED
50 15
- 30 _
)
- R B8 © Jr
Lor2; I 5
\@ ) 3
¥ <
WS L =) =
‘ ‘ —— 4-1

M6 $EHRZFE With Threaded Studs M6

4-M6

FEEBRRNE , TN

Zinc screw-in torque hinge,SUS pin

JHFRIAE N.m Symmetric N.m

%o 15

M6 SSLIRETEE
Countersunk Screw M6

M6 iRt
With Threaded Studs M6

B HIE5) Free Operating 2136-5000-20 2136-5100-20
1.8 2136-5018-20 2136-5118-20
23 2136-5023-20 2136-5123-20
34 2136-5034-20 2136-5134-20

ARIIFRIALE N.m Asymmetric N.m

EIRTAE N.m REHE N.m M6 STTSKIZETREIE M6 HEHRIZHE
Forward Torque N.m Reverse Torque N.m Countersunk Screw M6 With Threaded Studs M6
2.3 14 2136-5023F-20 2136-5123F-20
3.4 2.0 2136-5034F-20 2136-5134F-20
4.5 27 2136-5045F-20 2136-5145F-20
14 23 2136-5014R-20 2136-5114R-20
20 34 2136-5020R-20 2136-5120R-20
2.7 4.5 2136-5027R-20 2136-5127R-20

12t T B EPE et

Screw-on Torque Hinge

M8 STSLiZETEE Countersunk Screw M8

9.
8@4

BEEReRhE , FENiHE

Zinc screw-in torque hinge,SUS pin

SFFRAALE N.m Symmetric N.m

L7

< 90° 1F 180°

REVERSE FORWARED

17

4-M8

M8 JTIKERET[E

Countersunk Screw M8

M8 {EHRIRE
With Threaded Studs M8

B HZEz) Free Operating 2136-6000-20 2136-6100-20
1.36 2136-6013-20 2136-6113-20
2.26 2136-6022-20 2136-6122-20
3.16 2136-6031-20 2136-6131-20
4.07 2136-6040-20 2136-6140-20

AIFRIASE N.m Asymmetric N.m

[EIRTESE N.m [RIEEAE N.m M8 TSk T R M8 SEHRIEEE
Forward Torque N.m Reverse Torque N.m Countersunk Screw M8 With Threaded Studs M8

2.3 14 2136-6023F-20 2136-6123F-20

3.2 1.9 2136-6032F-20 2136-6132F-20

4.1 24 2136-6041F-20 2136-6141F-20

5 3 2136-6050F-20 2136-6150F-20

14 2.3 2136-6014R-20 2136-6114R-20

1.9 3.2 2136-6019R-20 2136-6119R-20
24 4.1 2136-6024R-20 2136-6124R-20

3 5 2136-6030R-20 2136-6130R-20

iE
1.
it IREEEE - 250000%

CYCLE LIFE:
Within 25 , 000 cycies static torque stay
Within£20% of torque specifcaton.

B

Index

235 Hinges



_ AT
Lift-off Hinge

BR
Index

4% Hinges

7
X

§

=

E‘li

25.5

AEERY Left

HEE , REERE

Zinc die, black powder coated

255

1
ol 46 5\&%
s

9.5

N L Mg

/497

10,
1
|

47
T

G Right

AR (F% ) Version A(Left) B (A% ) Version B(Right)

ABL(F%) Version A(Left)

B (5% ) Version B(Right)

2201-141 2201-142 2201-111 2201-112
175 175
| |
| | ! 1
TS I
4 o N %
& xR
Y Sy
__7 | | I -
325 | | 325
| | |
4 h ]
i, ‘ 0 0 ] -
180° o i i = = | | g' 180°
f T ] f H U t EJ t g
15 _[|_15 15 [|_15
FEEERY | eft G5B Right

HEE  REUHMERERIBEESRE

Zinc die,black powder coated or bright chrome

AJ5EH 10-32

10-32 thread is on request

Version A (Left) AR (%) 2201-510-10

2201-510-30

Version B (Right) B & ( 53¢ ) 2201-520-10

2201-520-30

AIFEHE

Lift-off Hinge

AZBY Version A

31 31 175 |—|ﬂ E‘»*
S 0 )
&
R ‘
I ] | ‘ /
] 7N R S R S |
ST
‘ _ | N
| ! ]
‘ I ]
0 | 128 | s Y
62.8
—[ J
15
B! Version B 180°
63
§)
o5
| v |
- ! !
|
©-
-~ 292
% ‘
| |
T
Yo} . I [Te)
-~ N t P ~
e = -
! 19 112.8‘ 19 6.4
63
HES  REHEREERERE
Zinc die,black powder coated or bright chrome
Version A A &Y 2201-500-10 2201-500-30
Version B B & 2201-501-10 2201-501-30
E\
i
3
94.5 10
19

38.3 | 25.5

« @ ‘
o
i D @e o|c[odo
~ " — | !
18.5
4-(10-32UNF) M@5
HEE  REAHREERESE
Zinc die, black powder coated or bright chrome.
IEEESE Front-mount Hing 18FLThru hole 2201-572-20 2201-572-30
M5X0.8 2201-570-220 2201-570-230
iRz EIE Concealed-mount -
Hinge 10-32 2201-570-120 2201-570-130

BR
Index

235 Hinges



AT HfFECHE

Lift-off Hinge

BR
Index

4% Hinges

7
X

§

Ly
o )

55
—
27 27 |
1
N | -H o
% o Sl
; ; —
'\, 11 15
6 | 15 15 6
T I i
“ 4-M5 @
o
) & _
S w ,
\
: — O 19— O A
. 7 30 30 7 75 \————
] 47 47
o 95
BEHN , RN
M.S. zinc plated, SUS cover
L=55 2204-55
L=95 2204-95
a\
s
= E o
|
H{-CIR= | @ _
© I
= ‘
S < S
|
led- o=
’ & [ od |
Lnt ! 11 wol
[ — e—— 1
== N\,
0 :
30.5

HES , EFHRECERE , REAIHEIER RS

Zinc die, black powder coated or bright chrome,m.s. zinc plated or SUS pin.

2206-20

2206-30

ATFECHE

Lift-off Hinge

/NBY Small size

=

100 M6, M6
|
e
= L
(7 I «©
)
S N N
B o & S
| e—— @
7.5
>12 13.5
55 =%
Two Joints Three Joints
AN E RN
Stainless steel or m.s. zinc plated
T Two Joints L=25.6 2207-256-304 2207-256-01
=75 Three Joints L=39.2 2207-392-304 2207-392-01
KB Large size
14.0 M8
M8
S
N
N
(f |
0 |
o L
3 |
~ o o
© o
o <
[ ¥
10.0
>16 18.0
[5E] =%
Two Joints Three Joints
TN RN
Stainless steel or m.s. zinc plated
T Two Joints L=32.5 2207-325-304 2207-325-01
=5 Three Joints L=49 2207-490-304 2207-490-01

B

Index

235 Hinges



_ ATiFHE
Lift-off Hinge

BR
Index

4% Hinges

Z
X

§

/\BY Small size

ATHEEHE
Lift-off Hinge

BR
Index

235 Hinges

. I [ JE
13.0 16.0 ISz ; 2 Depends on panel Ts
Serrated Washer 9
[‘“ ~
| Y
©
— 2\ - i ;]
W 12 J - 3 w Al
v =
» —= & lynsv)
< 2 12.0 B LEEERE
L S | PA washer
= « 30
4 B T S S
L,I/ 28.2 v
, = R5.7
75| | 100 402 3 ‘
13.5 5 o 1| % -
(7
r i E
2,,
2
%
1
KB Large size
HES BN A SN |, REAHETEE fBESR
Zinc die, black powder coated or bright chrome,m.s. zinc plated or SUS pin.
18.0 14.0
2208-20 2208-30
— | 2] —+ M5X15
< BRI IE
N . 2 Depends on panel Ts
LIRS 9
< = Serrated N
16.0 washer o 1
— .\ S
o =
? 52 8 L§ == !
= A [Eff
WEET A ReRERn s
35.0 Attention: 30
N— 51.0 I Screw M5X8 should
10.0 | 14.0 not contact the pin
18.0 o
= R5.7
o N |
(sp]
2 — + y)=|

TEMEIE TN

Stainless stee or m.s. zinc plated

L=45 30 | 2207-4530-304 2207-4530-01

/NBISmall size | =75 Three Joints

R EPA GF30% AR M IR AN
Black PA GF30% body, untreated steel fully molded-in,
stainless steel pin

L=53 38 | 2207-5338-304 2207-5338-01

L=50 29 | 2207-5029-304 2207-5029-01

KB arge Size | =75 Three Joints

L=61 40 | 2207-6140-304 2207-6140-01 2208-PA




) AT ERHE ATt ]
Lift-off Hinge Lift-off Hinge

B

Index

4% Hinges

A
N

%/

X

|—ﬁ' w

B

Index

235 Hinges

= = 16
° 3 29 6.6 29 .
T—H 4-MBT7 10 %.
o —H &, él \
- \ @ Ot dJdrf e
o - 2 I
S 7 I N I O i |
o — e
N | o 12
jt i |
.
52 EZRTS%I5
SUS material
20.0
19.0 L=29 2213-29-304
T <
©
2| mol )
RN
Stainless steel or m.s. zinc plated
80 18
10.5
=75 Three Joints L=57.0 2210-570-304 2210-570-01 29 1 29 10
4-M 6
yan ,C\\ f} > = : ©
N\ J | J -
2-C4.5 >\
SREWIR
SUS material
@ BHHASBET(MSX6)
9601-M506
L=80 2214-800-316
7.0
S 19.0
=] I
" ) \mn mn L
9.5 10< .
“ EL | | 98 205 195 205 I
~
Q00| Oeodz{s|
% =
64.0 %
o
) FESEEINSABINER , REHEEEERE,
— zinc die,m.s. zinc plated or sus pin,black powder coated or bright chrome
FESRIHERE SKERER T B NR
Zinc die, bright chrome,nickel plated pin, or full stainless steel
M55¥8E2 Black Powder Coated 2211-500-10
Z=4$& Bright Chrome 2211-500-30 2215-800-30 2215-800-316
54X 316 SUS 316 2211-500-316




IR
External Hinge

YR _
External Hinge

B

Index

4% Hinges

A
N

%/

X

B

Index

235 Hinges

=(o)
13 ®
o — o8 62
< A u g 41
mp —
M| &2 = -
_ ! oS 1 |
7 \ ) ‘ f
1 < lam : Q) —1.
o~ o o o o B 3 - - = < RS iy e 3
~ T ‘CE ™| © m |I_‘}’
180° N i
VAN - — I —
/] l =15 o]
N 2 ESIRA
17 =13 26 20 Spring clip plate
16 40
6 | 5
OIBEE FARYT
Anti-drop design Panel cutout
HAS , EHNEAENE | REA R RARERE 25 /
Zinc die,m.s. zinc plated or SUS pin,black textured powder coated or bright chrome ,,T
|
1.5 4.6 15 2305-15-20 2305-15-30 ‘
|
2.0 5.1 15 2305-20-20 2305-20-30 b 7?5; B 4‘ ] C 5
1.5 46 17 2305-1517-20 2305-1517-30 ‘
2.0 5.1 17 2305-2017-20 2305-2017-30 ‘
15 4.6 19 2305-1519-20 2305-1519-30 |
2.0 5.1 19 2305-2019-20 2305-2019-30 J
17
1015 FARYT FARYT
( Panel cutout Panel cutout Z
% 271,
1 i =3 I ‘ 5.1
M — Ll
- —1 T
\P i ™) VS ol o
g H-BH =8 8 =
17 »
\ 2
-
| Ts=2
— ]
o \N i
Q °
S 13 & HEINAE 1 @
N Anti-drop design

FHRT

Panel cutout

HEE , EHNEERE , RE R RS

Zinc die,m.s. zinc plated or SUS pin,black textured powder coated or bright chrome

Hoe , EEREERERR

Zinc die,m.s. zinc plated pin and clip plate black power coated or black E-coating

Ts=1.50mm 2306-15-20 2306-15-30 2307-01-10 2307-01-50
Ts=2.00mm 2306-20-20 2306-20-30




IR
External Hinge

YR _
External Hinge

B

Index

4% Hinges

N

A
2

X

§

=

E‘li 35.5

L

B

Index

235 Hinges

>32
12

40.5
40.5

60
26
— I 20 10 25 10 5 15
o) e | | | |
S - ﬁlu_m_dé
A || |
L= ; ] ] f 7 —
o o \ T 3.2 (o% J/\ I ¥ g q
N B R | | | I ‘ &
¥ = © T LmL |
: I | N Pl e
Y 335
15.5 U
232 &
o
A c t )
M6;TTSkaR 2
210 62 N 0
N
A+EZR! 2
<t
2 ABBEILE]
@ O | =~
N =
180° = 4
= = F AL —8
b &) -tO}) HAS , EEREAANEE , FEEE 4
= ‘ ) ‘,) Zinc die,black powder coated ,m.s. zinc plated or SUS pin. F}LRTJ-
2309-10 | Panel cutout
155 TS=2
>33 )
¢ S
METLREL Clamping pin
= |—|
C+EH®! jo
S -
v ___F M10X1 3,; . %

N

22\
0

2255

C+FE

FART

FEERE , FAHNHE , RERERE , e HNT Panel cutout

Zinc die,stainless steel pin,Black textured powder coated,or full stainless steel material

HAS , EEHRECEREH , REEE

il Version(Left) 723 Version(Right) /52& Version(Left) A2 Version(Right) 5% Version(Left) 723 Version(Right) 53 Zine die,black powder coated,m.s. zinc plated or SUS pin.

A+E 2308-111AE-20 2308-112AE-20

C+E 2308-111CE-20 2308-112CE-20 2308-111CE-120 2308-112CE-120 2310-02-10 2310-02-60 2310-02-70
C+F 2308-111CF-20 2308-112CF-20 2308-111CF-120 2308-112CF-120 2308-111CF-316 2308-112CF-316




=55 IhEEEE )
External Hinge External Hinge

B

Index

4% Hinges

N

X

2

§

L
Ll

16.5 60 40
10.6 5 32.5
20 S 2 % ‘ >4 [T
== —
| o3 L _77#7 m_ | —) N |
HaFfaFT | s o) = |z DElE e
° - = ~
SR e AR " O B LA A iy B fo|| [2
) (8 s e o|2lSt T g || el = 2
SVARNY. N o ® =R H T\ M 8 -
— o me 2 8L 21 55 %
@ 1.5 Dy
[— 4
48 20 1.5 = — <<224\
FART
Panel cutout

- TN " e HES, BREH , REBREE
%&é@'_ ! %E%#%I@E‘ZZ:%#M%EH} ’ iﬁg'ﬁﬂﬁaﬁ . Zinuc die ,black textured powder coated,PA pin.
Zinc die,m.s. zinc plated or SUS pin, bule white zinc plated

2312-20

2311-00

B

Index

235 Hinges

Ll

p & - ig

-
rﬁ
[

|

|
15

124

g

@4

kil
27
il [\
S
o
23
275
1

180°

! { ! } | |
12 ] 12

o
|
5

10

1;
o
>10

———2/

180°i ?

HEE , EEHNECRENGE | RE R RS

Zinc die,m.s. zinc plated or SUS pin, black powder coated or bright chrome.

HES , EERRNENE , R SR
Zinc die, m.s. zinc plated or SUS pin, black zinc plated 2313-10 2313-30

2311-02




338

External Hinge

BR
Index

4% Hinges

7
X

§

=

Version A A #Y

< 59.5
—— 175 é& i 45 i
ol ) E j@
N~
T 0| I ! I
@2 i
\
[Te]
fae) —_— - — | -
= .
T T
Qj180°
Version B B BY
22 Ny
"i' |‘ ‘ R,
I @
0 0
0 | ‘|:
- 0|0 |
H Qe ‘
oA
S © @
s 1 \
81, @ 22
& %
i e
Version C C &Y 30
; \ * ’ | 1Y
T4 reane

il ! *

I N2 ————
- CHEC
~ |

T

G

=

HAE , EEHRENEREH , RE R RARE R

Zinc die,m.s. zinc plated or SUS pin,black powder coated or bright chrome.

A BY Version A 2315-350-10 2315-350-30 2315-350-40
B & Version B 2315-285-10 2315-285-30 2315-285-40
C &l Version C 2315-220-10 2315-220-30 2315-220-40

GIEEHE

External Hinge

|
&
jl 12
! 180°
Ty s 75
29 |
:%\\‘8\
§§¥}§$ 14
AR
%V
13
7N

y

43
63

21.5

O

N
\ﬁgffégsgh i
ENCS
"sy |
HEE  EENENERNEH  REa e B
Zinc die,m.s. zinc plated or SUS pin, black powder coated or bright chrome.
L=45 2316-45-10 2316-45-30
L=63 2316-63-10 2316-63-30

B

Index

235 Hinges



YPERLHE
External Hinge

BR
Index

$345% Hinges

>6

—t
G
=
+ N

]

22
T
? ~

SRR _
External Hinge

L5, 355
4'4//8(0,( R 70) | ! |
% [ —— %

48
60
— 15
| 235
180° | —
p | |
ol 6l (1 | e .Y I O
H ﬂ~ ‘ © ! I @ b
; ==
18
<
%,
O X, 355
¥
0

nxal

30

20

e ™ ; |
p l 48 !
! ‘\‘ —— 15 235
\%] @8000 ] | ‘ |
o 4O R

F\\\J- B ——J i _J

20
HET , EEHREAERE.

Zinc die, m.s. zinc plated or stainless steel pin.

W=14 2317-14-10 2317-14-30
W=15 2317-15-10 2317-15-30
W=20 2317-20-10 2317-20-30

=

30
23
| |
Y | |
| Y l
3 | ¢
o [/ Q= !
— |
|
1o 1l
> 1
8 X
A 1 180°
HaE , EEHNER N REAHEEEEESR
Zinc die, m.s. zinc plated or SUS pin, black powder coated or bright chrome.
2318-10 2318-30
o
38
" 15 U E
o 12.5 . Toothed saddle washer
49.8 *ﬁ‘i
—T— 2
[ (N I ] | o ] ! N
gl 2|l < M6X108842
Y]
R M6X10 Screw & >
N 71
y Vi
1241 0
T T T T ~
25 i 2-79.8
69 21.7
FFASRML SREE R RE A
Zinc die door leaf, steel frame leaf, SUS pin
2328-01-25 2328-01-10

BR
Index

235 Hinges



=55 IhEEEE )
External Hinge External Hinge

B

Index

4% Hinges

e
N

%/

X

41.0

I_ﬁ' Ela 26.0 % I_ﬂl
L N 2 :
: Me-FESsLiBET 500
LI MbZZ L8 25.0
_ % 1 AR Nl T g
: e faNLL]] ”
_ 1 [ T 1 ] —
o ||
I
I
| BHAMEET(M6XS) @
I 9601-M608

180° A SR IR ISR
180°hinge zinc die,black powder coated; m. s. zinc plated; brass washer

A& Zinc Die 2326-500-20

30.0
@)
66.0

B

Index

235 Hinges

L] 7 |_I
T =
\J {“ ' (=)
7NFBIREM6X6 6.0 I \ ﬁ
M6ELE] I |
ol | MM} 2| =
8|3 I 38
(LN
08/a10 ||
114§
-
ol o B
o 1
“ 175 1. 30 MBDHAIRES: M kIR
R - 120 / o ﬁoﬁ
= =~ [te}
— r—————JfE;JI
p =N J( o N
:f == o | 0 = | i—_l = 2
HE W D =] o L= — 2| 0
——\& : ﬂ[-ﬁ War Y N
12 . AR Y
l~—= >12
1384 1984
180°AREEEMSUS 316504 GRS FOSREE B INERTIPANE
180° hinge SUS 316,pin SUS 303 Hinge zinc die,m. s. zinc plated pin,PA bushing
Ts=1.5 2324-15-316 138 2327-13-20 2327-13-30
Ts=2.0 2324-20-316 1981 2327-19-20 2327-19-30




YRS
External Hinge

BR
Index

4% Hinges

7
X

§

=

20
13.4
74

10.8

()

—
<74

25

2.65 % ® 4
i LT 1
) /a N B <
[ [ é g T I
A
2% —
o] <35 50
11.2
14.2
FESRYIRIEE S
Zinc die hinge, black powder coated, m.s. zinc plated pin
FREZE Black Textured Powder Coated 2330-500-20
|
59.5
175 18
‘ & ® 10
10 N
T — )
& Vo, M an \
o,t A% ~ T 1
N -~
o |- ‘ %
S | : 180°
v ! L Ir Ju
| 2 |
M10
42 10|
FASRILERE SRR
Zinc die, bright chrome plated, pin with m.s.zinc plated
FEE=$R Bright Chrome 2332-595-30

SRR _
External Hinge

185 %igck

0
3]
o ({k —
|11
=
5 % %
o | |
: $ $
‘ /\/ /\/ ‘
| 45+0.1 |
I 1
FIRT
Panel cutout
HASIRRIE , FHENSH
Zinc screw-in torque hinge,SUS pin
SFFRAALE N.m Symmetric N.m
FRER
Black Textured Powder Coated IRE, Gray
B HZE5) Free Operating 2338-6000-20 2338-6000-22
1.36 2338-6136-20 2338-6136-22
2.26 2338-6226-20 2338-6226-22
3.16 2338-6316-20 2338-6316-22
4.07 2338-6407-20 2338-6407-22
AIFRIASE N.m Asymmetric N.m
EIRTHAE N.m RE#HE N.m REE e Gray
Forward Torque N.m Reverse Torque N.m  [Black Textured Powder Coated
23 1.4 2338-623F-20 2338-623F-22
3.2 1.9 2338-632F-20 2338-632F-22
4.1 24 2338-641F-20 2338-641F-22
5 3 2338-650F-20 2338-650F-22
14 2.3 2338-614R-20 2338-614R-22
1.9 3.2 2338-619R-20 2338-619R-22
24 4.1 2338-624R-20 2338-624R-22
3 5 2338-630R-20 2338-630R-22

E
S EIREETE © 250000

CYCLE LIFE:
Within 25 , 000 cycies static torque stay
Within +£20% of torque specifcaton.

BR
Index

235 Hinges



Rk

Concealed Hinge

BR
Index

4% Hinges

Z
X

§

FES EEENECRE N, R IR EERED

Zinc die,Zinc plated or SUS pin,black powder coated or sand sprayed

16.5
-5 (@
o
< H il
o wno
o
3 [I ]
) |
|D |
@5.0
205 210
SIS / @
o 3
e olo
AN |0

>33

FOS ERNEE R R R

Zinc die,Zinc plated or SUS pin,black powder coated or sand sprayed

2401-115-20 2401-115-77
17.0
3-M5
S
&
S w|o
2 518
S
&
10.5
o o
< A
N 5 U
=]
-~ >16.5

2401-116-20

2401-116-77

e _
Concealed Hinge

20.5 3-M6 26.5

25

75
25
ey =(=1-ys

— F
I
34

18

1

33.6

=
25.8
20.5
N 20.5 <
® : - N G
AP Mo
L ] =
o RN -y
:: | ~ M c/Y\) i ed
>33 4 %,
<z>\>“ @ 7
|
HAS , EERER AR , RER B B 5 Version B
Zinc die,m.s. zinc plated or SUS pin, black powder coated or sand sprayed
AZR! Version A 2401-111-10 2401-111-77
B & Version B 2401-112-10 2401-112-77
=
30 23 187, =
R3 ‘ b
J / [ Y 7
,Hhi,a, | B | I 2 -
— 5 ~
|l — -—
| = (R N i < 107 [ o
) R \(:{% ™ _| | 1 N
(P NG $< ]
y 66 2oy
! N
6 \—1
50 11 1
21.8
84 110°

FEE , NN  RERER

Zinc die. black powder coated ,m.s. zinc plated or SUS pin.

2402-10

BR
Index

235 Hinges



PO
Concealed Hinge

Sk 33543

Concealed Hinge

BR
Index

$345% Hinges

AE

Large size

C05

2.75%"

90.4+0.5

BE
Bearing
washer

12.7£0.1

6+0.1

BzFE7

Example of application

47.6£0.1

TEEHNEA

M.S. zinc plated or stainless steel

ST

Assembled in the right door

NEEER

View from inside

Rt | ARAERE

BTLAEM=]

pull pin against the

spring to remove door

I J4RRER

Assembled in the left door

T2 Left

2 Right

HREEEE M.S. zinc plated

2404-04-01L

2404-04-01R

TREEEN 304 SUS 304

2404-04-304L

2404-04-304R

17.6
CQ; 2-95.1
Rm SHEE {
Spring u-,‘
o
==
) =
= 3 B g 3
=
==
=
=
Bﬁ @ J
= =7
& ——
1. ﬁ 0
— i 45
U B ZE Right
INEY
Small size
S
fb.
I
‘ |
0 *7?/
| o ©
3 ‘ | s
0 [ ?
|
[te)
“: 4.8<—
B ZE Right
EEEN
M.S. zinc plated
MIREMHE 55N
SUS material upon request
% Left &% Right % Left 4% Right
KB Large size 2404-01-L 2404-01-R 2404-11-L 2404-11-R
/NBY Small size 2404-02-L 2404-02-R 2404-12-L 2404-12-R

5

FEEEN
M.S. zinc plated

L

Ot
Index

B

235 Hinges

il
0y




PO
Concealed Hinge

BR
Index

4% Hinges

7
X

§

|
=T BT n
Ia é; == 25
@“ 14.8 —1
| V7
‘ | 0 4
N 8 -++-—1—R8 - —1 & :
N
| AN
| | I
12.2
20
v
A4 ,E 120°
: BUEER R E TR
‘ Screw on version Weld on version
~ EEHNE BN
= M.S. zinc plated or stainless steel
B2EER Screw on version 2406-011-304 2406-011-01
v 1R #EEIEEL Weld on version 2406-012-304 2406-012-01
)
i 2 o
= B . &
|+ \9.6\ o
7 |
gl i
' | |
| P |
~lo | _ | | o o o || |__]"|lomol~
[{o]liTe) [T | | O [T M| ©|©o
(@l L L
Q 4 2-29% 76
N | N7 3 &e
(333 a5 @5 95
o
N 17 ] L s H 0
o8 i~
[ : iiars
S| 28 Tilda @3? o L@\ !
120° | < 1~ N
) \AN/ ) ] /|

RS

Concealed Hinge

6.5 20.4 + 6.3I 265 +
3| ———fl 8|2 BIS| T T 3|3
|
Q /145 i. NV 145 i.
K> — Mo q)@" ¥ o5
W | i 38.5
26 325
ioni! 3 L R | a
— ]

TEEHNEA

M.S. zinc plated or stainless steel

g
N

25
—
\dﬁ—z)g

16

1.3 ) 20.5
20.3
TEERNEANEN
M.S. zinc plated or stainless steel
( R~ 20.3) (Dim 20.3) 2407-011-304 2407-011-01
( R 21.5) (Dim 21.5) 2407-012-304 2407-012-01

( R~ 20) (Dim 20) 2407-021-304 2407-021-01
( R~F 24.5) (Dim 24.5) 2407-022-304 2407-022-01
<o
2 e o
96, 0;’? @6‘ @ |
& r\;@ i | v I
>F —\ -
vy, 4 ) \\
=T 7
il il h
\P | | i
%88%**7**7‘*88 SRR *‘* 1R 3
| | ‘
ANl L
J jl l\ q’ Id l
AR\ \
D 8 A2 ﬁ a5 <
X 4;{» 63, 2651
o 6.5 20.4 o 15
oY Y '
¥ V. (
25 385 IS
o - o 325 | b N
2 ] o )
O —INY ' i
135° “Nm ‘ < 135° w
P N J ™ |
C . ; d N
) 32,5 325
R * '
M.S. zinc plated or stainless steel ) ' T
k4
( R~ 20) (Dim 20) 2407-031-304 2407-031-01
( R~ 24.5) (Dim 24.5) 2407-032-304 2407-032-01

BR
Index

235 Hinges



PRt e
y EEka Concealed Hinge Concealed Hinge YEEka

FEERES - 2408 FZEREA 2408 . 2409
o % . a
e BN M6ITSLAZET e N
X fl o 51.6 Countersunk screw M6 il 5
e ” 45 50.6 45 -5 / 2
3 25 /
F} 27 g_ g . [ — ) 4 ‘?)
) =\ - - — a N "
0 - 2-@6.5 - &S 0
(o) ; : © = )
= 9.1 A ~ N £
: o 2| 0 Hlgl :
ot r I R — N—T—/ #
& | L _ I 2-63 MeTHALR R |- &
£ <t OGN Locknut a5 Uqs
o o || T ol g 33  Shaft '
S LA | = & H—-—1 g2 clamping ring
(<<= 23 DN
~ N
N e < 12|10 TR
— 2 I \@ A ! | Q\“ﬁ’
T I S
L ) o © <]
275 M ! tg
Q |,
I ! Q D) Y
| / = ! 7] % g
b7 S 8 N VAN
: 28 ~7 of (&L
e
EEHNEANEI , RO, R, 46
BN M.S. zinc plated or stainless steel,shaft clamping ring: POM, red
M.S zinc plated or stainless steel
455X 304 SUS 304 HEEEEN M. S zinc plated
A58 304 SUS 304 IREF Steel 2408-03-304 2408-03-01
2408-01-304 2408-01-01
" m . %
! ; S\
I [} [} I f| =
1k o
R L) i il :
oIV} @gg = Ho-, o8 -
[HAN L [ 1 H o
S - 1IN 1T 023 2
£ 2 &5 33 Bl o VR ”g 2 T ‘ H
- A 7 . B
8 25 \g/} S M6 23 P i ? - . 11 3 - @5)
S & e | T = Nl m = 2
£ L ] (11 H ' -
3 . . tw,zfi‘: R TT X1 5 | i) g
S == 2515, | & Y | 2282 B 2X1. f'ﬂ_ﬁ\ ®lS =
S 2 120° o SR o TR — o °
E - ——-——————:ﬂf]- N 0%9_ ™ = ©L L L L= = 2
e 10 o = N N o Bl a
oy ol 28 6 3 P P =
i 65 o 1] 2
i 87.8 4- VS P
Weld-on point )
) 3
% £
(a]
08 RN BN b
{L M.S. zinc plated or stainless steel M.S. zinc plated or stainless steel _g
o
55K 304 SUS 304 FEEHN Steel ZE55M 304 SUS 304 FEEEN Steel =
Q
2408-02-304 2408-02-01 2409-304 2409-01 E’



PoERssHiE
Concealed Hinge

POt _
Concealed Hinge

B

Index

4% Hinges

oy
N

%/

X

= a‘ié

B

Index

235 Hinges

® 126 P
100.4 o —
2 \e 5 ||
| :T N ,Ch : :
. 1 Al L *
o [ SRS =) = e
|| l l o L1
& | - - N (— I o WL €
¥ < 34 15 o L
<
H=17\20\23.4 ~
. Ny ¢
120°
28 210 212 216
TN i&fggiiz:ﬁg or stainless steel
M.S. zinc plated or stainless steel - P
H=17 BT B AN 304 SUS 304 2412-40-304 2412-50-304 2412-60-304 2412-80-304
H=20 2410-20-304 2410-20-01 844N Steel 2412-40-01 2412-50-01 2412-60-01 2412-80-01
H=23.4 2410-234-304 2410-234-01
213
@5
= o 1
A To)
I * ~ N
] T AQ
Vm N | ¢
25.0 © B / y
—
15.0 J !
o3 109 EI o
2= >45 - = ~ :
O =0 1 R
‘ ‘ | S5 @\ AR
o —_— —
d _ - _ i N ] Panel cutout
3 —— S (N A
'S T T AREN Vo)
A \ ‘
16.5 e \
~ 18.0 S \—— 298
N
180 [
IR IR TEE q

20.5

REPARSE , HFaSHM
Black PA housing, zinc die pin shaft

HEE , EENECERE , REEER

Zinc die, black powder coated ,m.s. zinc plated or SUS pin.

2411-02-20 2414-01-90




Rk

Concealed Hinge

BR
Index

4% Hinges

Z
X

§

= B

] \
Pa
Yy | @
|
| N1
-
_— 4 | |
N—"
. 4
| \\\\\\\\\\ //////
S
I I —
o L I £
1<)
PREHE SRR R B, B S AR
M.S Raw with M.S pin or brass pin, or full stainless steel.
r 4
40 a8 a5 9.5 2416-40A-01 2416-40A-59 2416-40A-304
50 a8 a5 9.5 2416-50A-01 2416-50A-59 2416-50A-304
60 210 | @6 12.0 2416-60A-01 2416-60A-59 2416-60A-304
70 (@115 @7 13.5 2416-70A-01 2416-70A-59 2416-70A-304
80 g13 | @8 15.5 2416-80A-01 2416-80A-59 2416-80A-304
100 | @16 | @10 | 20.0 2416-100A-01 2416-100A-59 2416-100A-304
120 | @16 | @11 | 20.0 2416-120A-01 2416-120A-59 2416-120A-304
135 218 | @12 | 22.0 2416-135A-01 2416-135A-59 2416-135A-304
150 | @20 | @13 | 25.0 2416-150A-01 2416-150A-59 2416-150A-304
180 | @20 | @14 | 25.0 2416-180A-01 2416-180A-59 2416-180A-304
200 | @23 | @16 | 28.5 2416-200A-01 2416-200A-59 2416-200A-304

B

Index



yeeka

BlelEz( i F

Spring loaded handle

FmFS) ;- 3101

BR
Index

$13F Handles

R
E WNEIRSFEMIDIEEIE |, iBBLE info@yeekaco.com

43

128.5
86
T

N

I \2

5,

100
135

?

69.5

TEEHN , BIRE

M.S. zinc plated,rubber cover

U Bt/
U shape Handle

FmE . 3201

yeeka

HEE, BER

Aluminium alloy, black powder coated

2
9‘70 &>
2.5, AW
9> 2104
= —%
IR e s
| |
32 !
p— 44.2
7¢
© — )
2 40
{
2-06.2 535
s S
PA6 GF30,black
7! Middle size L=122 3201-122
KA Long size L=150 3201-150
k -
= | _:
|
LIRS =1 o ! T
& < \
‘ \
d1 T
A

{54 Description [ A d d1 d2 h1 h2 B H h
3201-090 | 90x6.5 90 Mé 12 7 12 20 36 6
3201-120 | 120x8.5 120 M8 15 9 15 26 40 7
3201-180 | 180x8.5 180 M8 15 9 18 28 50 8

BR
Index

$iZE Handles

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S



yeeka

U BY%i/5F
U shape Handle

&S 3202, 3203
x 160
I’ = 2-97
! D
205 : = 'L’(b
\\ i /I
8 T {
= t {
2 ] 1\
© I
m ; 2
Hh |
= 185
|
|
L0
o) I _
o
":T ~
| 60 16.8
EEakEEr
PA6 GF30, black or gray
<
£, g
// =
/ a
4
E
2-M(d)
4 L
£
o
Q
S L
o I |
2 | S
(] | |
>
®
L _ -
£
W Jgj; ‘gj; 1 |
s
HE 0, R B ST
- Steel ,bright chrome, or stainless steel
[¢]
2
fa) L A H ) o] 54N 304 SUS 304 4% Steel
™
UE 87 29 40 2-06 2-M5 3203-08740-9304 3203-08740-901
ﬂfb 100 29 40 2-06 2-M5 3203-10040-9304 3203-10040-901
AN
o4 120 29 40 2-06 2-M5 3203-12040-9304 3203-12040-901
lﬂlg 135 29 40 2-06 2-M5 3203-13540-9304 3203-13540-901
=3
150 29 40 2-06 2-M5 3203-15040-9304 3203-15040-901
3B-002

U #fr5F

U shape Handle

RS 3204 .

3205

=
T |
B |
= I
‘ |
A
h
|
om - H—
A
Een
PA6 GF30, black
AR Description A H d h1 B h
3204-090 90xM6 90 50 M6 14 28 18
3204-120 120xM8 120 60 M8 16 28 20
3204-180 180xM8 180 60 M8 16 28 20
3204-240 240xM8 240 60 M8 16 28 20
L
= N (] it
N
| J 8 \U 8
Q
46
O
S—\ G al r Y
_ N | U N | I, | _
2N ) \ \
A 15
HEE@EPA+GF
i{4Ending base:3205-01
fhiE4Middle base:3205-02
H1R304NE Tube: 3205-03-A (I T3 see below table)
L A L A
266 300 3205-03-300 366 400 3205-03-400
466 500 3205-03-500 566 600 3205-03-600
666 700 3205-03-700 766 800 3205-03-800

BR
Index

$iZE Handles

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S



U BY%i/5F
U shape Handle

iz T3
Concealed Pull Assembly

yeeka yeeka

FEmES - 3206

BR
Index

$13F Handles

§
E WNEIRSFEMIDIEEIE |, iBBLE info@yeekaco.com

FmE . 3207

28.5
°, BAIMREEE4 143 B LURZ£BT4.2X16
«|2 ( TEURETHN ) N 1 Self-tapping Screw BT4.2X16_ 20.5
5 3 Max panel thickness N
s with screws provided S
> 11.5 IR ! T i —
Door ____
A
ﬁ A >
| 7
7 3 P
D 0y
PE= "WE
M Bushing bool
O O Of
/ esd)
3 - ==
< o
< +l
& 2 17
& 14
il 8.9
S
w
& T
i
1635
! i 7T
\
J - V4
o & : b
2.7 344 © i
32.5
S 7
\
\f
I IHRFFFL
Panel cutout
FaEe RGBT R
Zine dieblack smooth powder coated RRTRRGS , ZEERIE, FHRI0AETURLAIH EEA B
B PA6 handle and housing,POM bushing,SUS304 self-tapping screw and pin,black finish
L=238.85 3206-239-10 3207-68-90

BR
Index

$iZE Handles

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
&



ATV F ATVHF
y EEka Pocket Pull Pocket Pull YEEka

PA6 GF30,black

Haes , BRER
KB Large size 3301-01 Zinc die,black powder coated.

&S - 3301 &S ;0 3302, 3303, 3308
KBY Large size 70 42
1 38 A
s ~
, | ' Sl
o ()
fe ‘ I i 2
o | 3 T
[Po) <
Y ) N | ‘
» / Il % 1 n
2 ————— —T ————— C o) 2
2 | N | 4 & t4+—- -+ s
5 | ; | 110 J‘ﬁ s
& o ! | . 3 | it
oy I l I N !
I I ol T ' o
| E | = HEEN / (0/7/ ! q}
1 | 4-M4 73 & ‘
_____ _¥ — < 88 W .
I . ] A I JHRFFFL
94 Stainless steel Panel cutout
110
FFFLR Panel cutout
< S 69 N
R Ts(mm) X v 2, N 195 | XY
15~2 49.8 "2 995 ] l —@k Tl {of [ . /%g,
2~3 50 03 995 | |
|
2 R T § e S =
/NBY Small size i
|
@ ] e‘% i e‘}
Y © 7 -~ H ] i
: i 1 15 3 79
|
(————— i A— 1 A, BEE | L
| ‘ | Zinc die,black powder coated. Panel cutout g
o
=g | = T o-
T & ‘ &
| | | g
. Il [l S
o .Y 4444444 i 9 NFT—— ®
o 81 e} —
3 o4 g
5 > N 4-265 7\ 5
L o
£ FFFLR Panel cutout \‘Lﬁ\ ,L §
W @
i I HRIZEE Ts(mm) X Y < n>-“-
- 0.75~1 35 *02 g5 03 & = = I 2
- ~ ~ <~ 20, =
] 1~2 36 *02 g5 103 [ %,,
] S is 3
i i E
(=] 1 i\,_ (=]
I2 BEEE N < 18 b
ﬂ,; _§
AN S
i =
e &
= 2



yeeka

ERATCHITF
Pocket Pull

&S - 3305, 3307

BR
Index

$13F Handles

3
E WNESREFERIDIEEE |, {EEXZ info@yeekaco.com

> A | A
‘ — — v
| |
| T T
- = \ = [ So
NS AT T NS 17T 1T 1T 12
SN T 1 W 3
| | A
am 4 14
| |
= |
14 T 4
+0.2
PANEL 388
THICKNESS N
) I IHFFFL
D |36 f- Panel cutout
=
i
®© 25 —
EEABS
Black ABS
1.0-1.8 3305-01
18~33 3305-02
3.3~4.8 3305-03
4863 3305-04

&K, ZFEFTENE 28RS
Customer special logo can be here.
R R : 50X80 Logo size: 50X80

‘ | 26 2 ‘
L —— N /r

67
4
'i/'
T
|
T
|
|
\
502

L¢> Ts J"

1 1 3 ——— |
10079°
M PA+GF |‘—.M:)§5CF,7FL
Black PA+GF Panel cutout

[TREE &I\~BA Panel Ts= Min ~Max

0.8~1.2 3307-01
1.2~1.6 3307-02
1.75~2.2 3307-03

ERATCHIF
Pocket Pull

FmFS . 3306

yeeka

K Large size
355
25.6
ik
AN
355
#):
2 38.8
&
i
(mp
B
-
/NEY Small size
35.5
25.6

91.8
82.5

| JHRIZEPanel Ts

HE&EABS

16.5

18.5

|
i

|
132+0.3

[ IHRFFFL

Panel cutout

30.7+£0.3

|
IR

|
87 5‘10 3

.

[ JtRFFHL

Panel cutout

[ JREE &/\~BA Panel Ts= Min ~Max

KB Large size /B Smalll size
1.0~1.4 3306-11 3306-21
1.4~1.8 3306-12 3306-22
1.8~2.1 3306-13 3306-23
2.1~2.5 3306-14 3306-24

BR
Index

$iZE Handles

i To get product 3D models freely, Please contact info@yeekaco.com
S
R



yeeka

#/F
Handle

FERE% - 3401, 3501

AHRE&TCHIE Folding Handles

W, ESE B 2AHER

Steel in bright chrome, or full stainless steel

=B

LR g _
Telescopic Cover Stay With Button

% {<8Y Long size
N q
w3 H o ,L;b\“‘
m < E g/{ 105 127
g =SB
E | |
£ ‘ |
E ‘ ‘ /
; |- ‘
|
|
| |
| é
\

H=41.5, @9.0
KEL
ZRE54M 304 SUS 304 4 Steel
L=87 3401-87-304 3401-87-30 @ -
EIERE
L=100 3401-100-304 3401-100-30 : = = —
Mounting bracket
L=120 3401-120-304 3401-120-30
L=135 3401-135-304 3401-135-30
L=150 3401-150-304 3401-150-30
#9784 Short size 70 85
F1& Handles g
€
| | I o—n
= 28 = ©
<t
40
of
9
28 o
_ 40 <
0
\ Tl o, I~ o 2
| | |
1 1

B, Begke
PA6 GF30,black or grey

B ERE
Mounting bracket

RN
M.S. nickel plated

BR
Index

S#E4F Cover stay

KEL 45 65 95 120

WNEIRSFEMIDIEEIE |, iBBLE info@yeekaco.com

2 Black

3501-45-10

3501-65-10

3501-95-10

3501-125-10

K& Grey

3501-45-50

3501-65-50

3501-95-50

3501-125-50

1< Long size

6101-01L

6101-01R

%58 Short size

6101-02L

6101-02R




T ARG 2 1%
Telescopic Cover Stay With Button

BR
Index

7##FF Cover stay

268
134
s o I —— {o— -6t I
=
5 T 2 ‘ 255
365
35 13
0
A () () —
: © G
EEMHF

Mounting bracket

BRI
M.S. nickel plated

ZFF Left opening 6102-01

A7FF Right opening 6102-02

TR
M.S. nickel plated

Z=FF Left opening 6103-01

£7FF Right opening 6103-02

BBl IE

Telescopic Cover Stay

Left opening
13
©
1 ¢ —— )
il ==‘1|cn
290 <

Right opening
RN 5 2
M.S. nickel plated or stainless steel
=TT Left opening 6104-01-00 6104-01-304
47T Right opening 6104-02-00 6104-02-304

BR
Index

S#E4F Cover stay



BBl IE

Telescopic Cover Stay

B

Index

7##FF Cover stay

<A Long size

BBl IE

Telescopic Cover Stay

138 220 16.5
e,eJ
\‘G T
| Yo I
; Q
3 {? 5| B
31
35
— | ! — o
=y ==l T
? T 35 T 35 T <Q ©
20 160 :i |
92
558! Short size
170
« 127 10
s 1 1 1 S _
J © Jeon S <=
o N\ T \2-25
5X10=50
214
184 : 30
K | % ‘
SRS © o F 6] <
146 50 <
s
HERN 5 2
M.S. nickel plated or Stainless steel
B Long size 6105-01-00 6105-01-304
%8 Short size 6105-02-00 6105-02-304

16.0 415
2-06.4 Ty,
'L_
16.1
(ce]
~
)
i e
4.0 T
o
=
X Z
19.0 G o
g Z (& Q
4
iy
S
w . b S
%
e 16.5
25
S
minimai
W X Y |door width
90° 140 180 403
105° 120 166 389
120° 110 150 373
135° 100 146 369
PREEEE M.S zinc plated 6106-01-01
AE5HM 304 SUS 304 6106-01-304

B

Index

S#E4F Cover stay



Bl IE

Telescopic Cover Stay

BR
Index

7##FF Cover stay

<A Long size

26
| ol
15

64 m_r

TN,
oy
|

|
1l
1nnl
1l
1nsl
el
1] . Li
M
It
Jil
ok
% T
50

L=395
= Lmax=710 19.5
%
Max=105 ° B=620 o
H ax 35 qu)
| =
)7* /J (“\DI o
LAt
5 >t Mounting
bracket (screw

and selflocking
not included)

SAY Short size

3
IS
& 0
19.5 f ~L
6 o)
- %
\@
2
____________ (<Y H
@ ZQ% 8/3
g — — — — — — — — — |
L=215
= Lmax=355 19.5
)
Max=105 ° B=315 >
O
=18
< J'ﬁéﬁiﬁ&
© o Mounting

TN
M.S. zinc plated

bracket (screw
and selflocking
not included)

K8 Long size

6201-01-00

%584 Short size

6201-02-00

BBl IE

Telescopic Cover Stay

= | |
)

12 Y
e Gl
A — _ 5 %8

=214 '
L Extended 10
= ‘ N o
= A T
T
S
= Vv
% ¢
. e ——— }@} -
N o
=132
L Extended 10

0 1A Long size | %3EY Short size (g:

Stop L ELxﬁr%ed L ELxﬁr%ed 35 %ld) 3
1. 2345 164 f CDI M
2, 248 177 76}7% o -
3. 261 189.5 | N
4. 2745 202 T \—1
5. 288 2145 50 ™ .19.5 |
3 3“:'(:5 Mounting bracket (screw and selflocking not include)
3 327 Note: The cover stay is sold with mounting bracket and
9. 3405 related accessories togehter as standard.
10. 354

TN

M.S. zinc plated

KA Long size

6301-01-00

%58 Short size

6301-02-00

BR
Index

S#E4F Cover stay



BR
Index

7##FF Cover stay

B ZD( IS

Self-gripping Gasketing

yeeka

FERZRS 7201, 7202, 7203
411=
X
]
m <
A 9“
- !
N
- B % BEPDMER RS )
“ %@IL‘;\H_. Sponge-rubber,black epdm gasket 2
wire carrier _;Q(‘iﬂ-\-x
g
1=1~35 2=3~5 Mo
- 1~3.5 7201-211
3~5 7201-212
8.5
I //
w
= E U ‘
! Al
WA
wire carrier

B %EEPDMBL K

Sponge-rubber,black epdm gasket

7202-115

WS A

wire carrier

B BEPDMBE IS

Sponge-rubber,black epdm gasket

7203-13

1 i

wire carrier

‘,p\\\\

Bk BEPDMBE

Sponge-rubber,black epdm gasket

7203-156

© 9 N

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S



EEka Self-gripping Gasketing Cell Sponge Rubber YEEka

FEERES - 7204, 7205, 7206, 7207, 7404 &Ry 7301, 7302, 7303
) 3
o % o
3 >
1 x [
. [ W H
iy 4
o) wire carrier, N s 2
b= 1~2 B % EEPDMERRE £
4 — | 4
_'Q(nk.% Sponge-rubber,black epdm gasket ﬁ"%
@ H @
] 7204-145 MO
-2 T B B R BB RES
19.3 Cell sponge rubber ,black with strtch eliminating self-adhesive backing
// &R Width B JEFE Depth D KRR EPDM ST CR
Yo} P 3 7301-1003 7302-1003
Si N A
~ 10 4 7301-1004 7302-1004
%m;‘a;);lL 5 7301-1005 7302-1005
1~4 wire carrier RERBEPDMEHRE 3 7301-1503 7302-1503
Sponge-rubber,black epdm gasket
15 4 7301-1504 7302-1504
5 7301-1505 7302-1505
3 7301-2003 7302-2003
23.8 20 4 7301-2004 7302-2004
18.8 5) 7301-2005 7302-2005
3 7301-2503 7302-2503
©w . 25 4 7301-2504 7302-2504
o I
~ ~— 6 7301-2506 7302-2506
ﬂy_] 75 ):lL 8 7301-3003 7302-3003
wire carrier, EBKBEPDMEIREF 30 4 7301-3004 7302-3004
1~4 Sponge-rubber,black epdm gasket
—_— 5

15

14.5

123
S

20 _
A

7301-3005 7302-3005
7206-145

| H
PWEH 2
wire carrier -
-4 | R -
B % EEPDMBEEERE
Sponge-rubber,black epdm gasket W

7207-145

WNEIRIS = M3DIEBE |, {BEXR info@yeekaco.com

\‘
o+
S
S

JFEE(R B BB ARBRREH &

Cell sponge rubber ,black with strtch eliminating self-adhesive backing

\/% BEH BEW KRG EPDM
) 7 16 7303-0716
co % = 16 7303-0516
16 7303-0316

2}
1.5

e
¥
4
=

5

QL\ 7 ™ S
10 B REPDMELRS 8 1 7303-0816
Sponge-rubber,black epdm gasket 7 10 7303-0710
7404-10 12 10 7303-1210

To get product 3D models freely, Please contact info@yeekaco.com

~
o
S
S
p



=0 =0
eeka Cam Cam

B

Index

BEFZR%1
Accessories

MEIKEF~=M3IDIEEIE , 5% E info@yeekaco.com

©
>
S
S
i

FEERESY : 9100 FEEES - 9100
19 -
: 17 %197 30
( BL19 3.0 1R
40 R os] [H ks | f
:: | :: Ki '\\ggtijl i <:\ d0°~
T, 3 < 0°] 7 0 i v Y
4 | @ o — o Nlwo N
EE - e % E ~
<t
! |
[
08.280s | | [18.280s ! &I | BH‘
I
3
o6 ) | C
< < 36 + 0.05 25 e @-_\! \

M.S. zinc plated

Index

BR

Bi4ZR%1
Accessories

1
1
-— P -— | f
o i Vi B SNIBAIERE 5 SNIBAIERE
|92 GEERRE | HERE  BEEI8 ERE HERE SR
| | [P _ I o e—u] Cam type Cam offset ~ Max.outer door Ts Cam type Cam offset ~ Max.outer door Ts
5.840s 2-26 5.840s 210 o i For assembled latch P i For assembled latch
- - R & SR 4
9100-04H 9100-06H 9100-95H 9100-96H 9100-0700 | 15 1g | BERERIC| 51500710 | 35 2 7
1S 4mm 9157
Rasied 4mm studs =) Fr
Ja SR
L=d5 + 2 9100-0701 17 16 oo raseted keh | 9100-0711 | 37 4 7
9100-0702 19 14 1 9100-0712 | 39 6 7
L=45 £ 2 L=35+2 9100-0703 | 21 12 2 91000713 | 41 8 7
9100-0704 23 10 4 9100-0714 | 43 10 7
9100-0705 25 8 5 9100-0715 | 45 12 7
! ! 9100-0706 27 6 6 9100-0716 | 47 14 7
9100-04H 9100-06H 9100-95H 9100-96H 9100-0707 29 4 7 9100-0717 | 49 16 7
SREEEE , BIfANEEEN M.S .zinc plated,stainless steel material upon request SI00.0708 £l Z 7 000708 2l 1 v
9100-0709 33 0 7 9100-0719 | 53 20 7
H=GH+BH
MEBLS Cam Part #
GH=30 GH=36 GH=40 GH=60 i
-16 2 14 20 24 34 44 9100-0402 3.0
17 8.2 :
-14 4 16 22 26 36 46 9100-0404 9100-9504 | 9100-9604 82 30 T
-12 6 18 24 28 38 48 9100-0406 | 9100-0606 | 9100-9506 | 9100-9606 = : A ~ =
-10 8 20 26 30 40 50 9100-0408 | 9100-0608 | 9100-9508 | 9100-9608 s o = < el
—] . o
-8 10 22 28 32 42 52 9100-0410 | 9100-0610 | 9100-9510 | 9100-9610 <\§I/°> o \510// o
5 13 25 31 35 45 55 9100-0413 | 9100-0613 | 9100-9513 | 9100-9613 © 0 o & Q | o
-4 14 26 32 36 46 56 9100-0414 | 9100-0614 | 9100-9514 | 9100-9614 8w o E !
2 16 28 34 38 48 58 9100-0416 | 9100-0616 | 9100-9516 | 9100-9616 i i
0 18 30 36 40 50 60 9100-0418 | 9100-0618 | 9100-9518 | 9100-9618 i |
+2 20 32 38 42 52 62 9100-0420 | 9100-0620 | 9100-9520 | 9100-9620 T .I-‘ ! ﬁ
+4 22 34 40 44 54 64 9100-0422 | 9100-0622 | 9100-9522 | 9100-9622 ! B
+6 24 36 42 46 56 66 9100-0424 | 9100-0624 | 9100-9524 | 9100-9624 < =
+7 25 37 43 47 57 67 9100-0425 | 9100-0625 | 9100-9525 | 9100-9625 @".
FREEEE NS 5
+8 26 38 44 48 58 68 9100-0426 | 9100-0626 | 9100-9526 | 9100-9626 M.S. zinc plated —
+10 28 40 46 50 60 70 9100-0428 | 9100-0628 | 9100-9528 | 9100-9628 JrP— P
<3 RS <3 IRAE
+12 30 42 48 52 62 72 9100-0430 | 9100-0630 | 9100-9530 | 9100-9630 SRR e BERE R T SRk mm  DERE R T
+14 32 44 50 54 64 74 9100-0432 9100-9532 9100-9632 Cam type Total Cam offset ~ Max.outer door Ts Cam type Total Cam offset ~ Max.outer door Ts
+16 34 46 52 56 66 76 9100-0434 9100-9534 | 9100-9634 i Forassembledatch i Forassembledatch
o ———
17 35 47 53 57 67 77 9100-0435 | 9100-0635 | 9100-9535 | 9100-9635 9100-0800 | 15 18 | AERERIH | 91000810 | 35 2 7
+18 36 48 54 58 68 78 9100-0436 9100-9536 | 9100-9636 r—
+20 38 50 56 60 70 80 91000433 | 9100-0638 | 9100-9538 | 9100-0638 ot00-0801 | 17 | 16 [ IEREEIE | g1000811 | a7 4 7
+22 40 52 58 62 72 82 9100-0440 | 9100-0640 | 9100-9540 | 9100-9640 97000802 prs T p 91000812 | 39 5 7
+24 42 54 60 64 74 84 9100-0442 | 9100-0642 | 9100-9542 | 9100-9642 9100-0803 >1 PP > 91000813 | 21 3 =
+26 44 56 62 66 76 86 9100-0444 | 9100-0644 | 9100-9544 | 9100-9644 9100-0804 23 70 2 91000814 | 43 10 7
+27 45 57 63 67 77 87 9100-0445 9100-9545 | 9100-9645 9100-0805 25 ) 5 9100-0815 | 45 12 7
+29 47 59 65 69 79 89 9100-0447 9100-9547 9100-9647 9100-0806 27 6 6 9100-0816 47 14 7
+32 50 62 68 72 82 92 9100-0450 9100-9550 9100-9650 9100-0807 29 4 7 9100-0817 49 16 7
+35 53 65 71 75 85 95 9100-0453 9100-0808 31 2 7 9100-0818 | 51 18 7
+37 55 67 73 77 87 97 9100-0455 9100-0809 33 0 7 9100-0819 | 53 20 7

To get product 3D models freely, Please contact info@yeekaco.com

b

S
1]



yeeka == yeeka

FmERS ;9100 FeaRERsl o 9100

B

Index

Accessories

eyl

b
E WEIRE = R3IDIEBIE |, i5BAR info@yeekaco.com

1772 26mm
stroke 26mm

Index

BR

Bi4ZR%1
Accessories

H 3 20
I
Ve N
A=y o | T osEe
i SIRTT (8 | 4@ ™ M.S. zinc plated
M.S. zinc plated ‘ ’/ X }_ a H £ Left £ Right
POEL  TEEE '{\ ‘ 0 $ > / i 25 9100-9425L 9100-9425R
NI - @ —
9100-2518 25 0 e ¥ 27 9100-9427L 9100-9427R
9100-2018 20 0 N % 29 9100-9429L 9100-9429R
GH=20| | 4 31 9100-9431L 9100-9431R
, 4
S S g | .
O g \
@ _ T i, {_|_ _ g PRI NV
i T M.S. zinc plated iy “
: I
y M.S. zinc plated e | 90 °5FLBUHEEIINST 9100-3618A ﬂ
A = - 1 — I |
FEL  $FESEE BH > ] 45 P3RBT 9100-3618B ! \
9100-4901-6002 60 2 18.6 14 " 90 *HFLESHEIIIETIES |  9100-3618C
9100-4901-6314 63 14
9100-4901-7300 73 0
66 N
50 N
I -
:J_ /
-y I
010.1 n %%%Eiqe_
N M.S. zinc plated
I >
M.S. zinc plated
| —
FulyiE L HS=E BH |
9100-4902-6012 60 12 |
9100-4902-8118 81 18
9100-4902-8800 88 0 ql\\ i 1 1
R
] M.S. zinc plated
R N <
M.S. zinc plated -~ L1
FRILME L HE=E BH
9100-4501-8800 88 0 R
R
k M.S. zinc plated
1 26

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
R



eeka Koy  Rod yeeka

MEIKEF~=M3IDIEEIE , 5% E info@yeekaco.com

©
@
S
S
=

— ‘: . —‘l— D .
! 75 Zd !
52.0 ' I 88 ;
3 D% | g
| ) ! sl ' Al .

5 1 _ [T] 1 ©| ‘>]<.)
w5 34 ! ' | 1 S
m £ X w : ‘ ‘ =

! o | oS | !
P a ‘ I { | ' . 128
5 E as ' : T il T

; | 8 | A ;
=5 o | 29.9 ! : ‘ ‘ : | i
W 8 l\. s | 1 1 mf‘ uw)
i 4 =] # | ! ! ' N A [ ++ &
=0 | 1 1 £3
&< ido 213+0.15 ‘ : | | : ‘ | ‘ £

. — ' — 1 | , | |
L=80 L=55 T : + * : ‘ ‘
+ : M it : | |
w 1 1 1
$HRLETIKey Code © goy o5l : | | —— |
S Q [ : ! ! : I |
:r? ] 1 1 ‘ ‘ 1 $
. ] 1
O i 1 1 [
@ 08 B "‘N" | . | | | ¢‘51 |
PO75 8mm =f8mm XZB5mm | : | | : P
Square 8mm Triangular 8mm Double bit 5mm ! !
- ! X X ' 1 ! A B
| f | T ' |
HEE , BEE BRERE ; ! . ! ;
ZinT:I die,black powder coated or bright chrome A ﬁg Version A ' B ﬁg Version B ' ¢ ﬁ! Version C
e KE L=80mm KE L=70mm KE L=55mm
K8 Key type Y = = = & = SESEA SISSEN
ﬁfﬁder coated §Fight chrome Bﬁ%ﬁder coated é‘Fi%gght chrome B)\Egkép%vder coated é‘Figgght chrome 165 “ 1 };Ibyﬁlf:ﬁ:r ! {F};ﬁlﬁﬁ; [
“ . . t\ 1 Q) 1 ~
48 Double Bit 5mm 9200-80-015-20 | 9200-80-015-30 | 9200-70-015-20 |9200-70-015-30 | 9200-55-015-20 | 9200-55-015-30 u [0) : q)'\ : H=23.5/28.5 ®
=f3 8mmTriangular 8mm | 9200-80-038-20 | 9200-80-038-30 | 9200-70-038-20 |9200-70-038-30 | 9200-55-038-20 | 9200-55-038-30 N : H:I] _ f : H ¥
P975 8mmSquare 8mm 9200-80-048-20 | 9200-80-048-30 | 9200-70-048-20 |9200-70-048-30 | 9200-55-048-20 | 9200-55-048-30 I B E E :|]
8 b L
1 1
: :
8 : |
o ! !
— 1 1
>— = 1 ' _ __r
— 1 . 1
: ~ L : ~
1 1
: : |
! ! . D
1 1
: : |
: : | q
1 1 |
‘Z)rl 1 1
18 & a ¢ : + : '—é
< ~ 1 N Lf‘_> 1 ~ | )|
I q U e ! > N
- : 14 Y
D 2! Version D E E B! Version E E

F B Version F (H=23.5)
G & Version G (H=28.5)

B A B VersionA B & VersionB C #l Version C D & Version D E #! Version E F & Version F G & Version G
400 | 9301-A-0400 | 9301-B-0400 | 9301-C-0400 | 9301-D-0400 | 9301-E-0400 | 9301-F-0400 | 9301-G-0400
500 | 9301-A-0500 | 9301-B-0500 | 9301-C-0500 | 9301-D-0500 | 9301-E-0500 | 9301-F-0500 | 9301-G-0500
ES Key type FAREET Key code MR Materia 600 | 9301-A-0600 | 9301-B-0600 | 9301-C-0600 | 9301-D-0600 | 9301-E-0600 | 9301-F-0600 | 9301-G-0600
A e e £ Full brass 700 | 9301-A-0700 | 9301-B-0700 | 9301-C-0700 | 9301-D-0700 | 9301-E-0700 | 9301-F-0700 | 9301-G-0700
9200-333PA EFHRIAIARL PA knob+brass key 800 | 9301-A-0800 | 9301-B-0800 | 9301-C-0800 | 9301-D-0800 | 9301-E-0800 | 9301-F-0800 | 9301-G-0800 L /
9200-751 CH751 £ Full brass 900 | 9301-A-0900 | 9301-B-0900 | 9301-C-0900 | 9301-D-0900 | 9301-E-0900 | 9301-F-0900 | 9301-G-0900
9200-2233 Yk2233 £ Full brass 1000 | 9301-A-1000 | 9301-B-1000 | 9301-C-1000| 9301-D-1000 | 9301-E-1000 | 9301-F-1000 | 9301-G-1000 SRR
9200-101 YK101 4R Full brass 1100 | 9301-A-1100 | 9301-B-1100 | 9301-C-1100 | 9301-D-1100 | 9301-E-1100 | 9301-F-1100 | 9301-G-1100

To get product 3D models freely, Please contact info@yeekaco.com

©
Q
S
S
=



FIHF FUFFBfA4
Y eeka Réd ;\’o/il accesories Y EEka

Zinc die, black powder coated, black PA clamping pin
18.5 9301-X-18.5-0400 | 9301-X-18.5-0500 | 9301-X-18.5-0600 | 9301-X-18.5-0700 | 9301-X-18.5-0800 | 9301-X-18.5-0900 | 9301-X-18.5-1000 | 9301-X-18.5-1100

X B Version X
A | 225 | 9301-X-225-0400 | 9301-X-225-0500 | 9301-X-225-0600 | 9301-X-2250700 | 9301-X-225-0800 | 9301-X-22.5-0900 | 9301-X-225-1000 | 9301-X-225-1100 9401-4025

275 | 9301-X-27.50400 | 9301-X-27.5-0500 | 9301-X-27.5-0600 | 9301-X-27.5-0700 | 9301-X-27.5-0800 | 9301-X-27.5-0900 | 9301-X-27.5-1000 | 9301-X-27.5-1100

FERES : 9301 FEEBES : 9405 . 9401
1, _@15 16
% W S A 283 5
% o %
m < 10 @ . m <
2 . I I EEFL600mm o - BV Ne
. | W Ra— s . Jea N o i
2 | Door Height less than 1600mm i AN \> o ke
=2 , only have one copper rivet =
e @ 2 ol - | & @
i3 0 A - £3
=9 ~ &2
® = AV, 4
® &o‘ ' |
>| 17 AA
N . BES , EERETEN
Zinc die,zinc plated or SUS 304
BEE Zinc die 555 316 SUS 316
A @6 9405-01 9405-01-316
i’ A
N = I
‘ 14 —-U-——3 EE{4 Rod catch
‘ PREEEE
b M.S. zinc plated 25 19
& Rods 9 35
["JBRE Door height H & Version H 4 —
Dim. X Dim. Y P i < -
_ 1 o)
8001200 1265 9301-H-1265 | 2265 i
1200-1600 — 2765 9301-H-276.5 I ~ -
— - - = - N
1600-1900 1015 5265 9301-H-526.5
! ' 2-2125 —
1900-2200 1015 6765 9301-H-676.5 | ©
N N : Vi Y, ™
12 6.5
975 A 20
l ] 40
§ Hee , BRERE £
Zinc die, black powder coated 8
| :
S
(I
£ ©
S o e
S =
© -
ﬁ ~J - ?—‘ Q)\G E
C|>’- N I. / [
® b e
L @ @
= @
) = & =
‘ =
e 3 @ 2
. Jif \L/ £
> — »
= o 3
o
L 6 E
] i 24.2 o
2 M.S. zinc plated 1.2 ©
. =
& 315 HaS , BUEE PA SERHSH 3
% 5
e >
= o
= [



FIFFBHAE
Rod accesories

FEEBES ¢ 9401

S

Rod guide

FERES 1 9401

BR
Index

BEFZR%1
Accessories

HeT, EiF

Zinc die,zinc plated

125

| 9401-4019

= m3DIRBYE , {BEXZE info@yeekaco.com

27.
° 255
23 -
8
| /
- == C =
@ |
| 4 -
I “’k |
gy |
(se !
\ © 36
N
6 40
11.5
HEE , BBEE
Zinc die, black powder coated
|
B4 Rod catch
26 7
10 R10
| pail
S
o _ N d
g 3lel - o
()]
] 0 _
' [
@12.4X90 ° (2X) 25+0.1 |75

HAE , BER

Zinc die,black powder coated

$E$¥ zinc plated

9401-4026-01

FREEE Black Textured Powder Coated

9401-4026-20

020
| |
< L\ A
2 | fy—s 18
) | 77
Te O ;
SR S V/b< 17
<)
) A
| Mg
28 |
228
2813 PA
44 30 9401-4430
38 25 9401-3825
32 20 9401-3220
. 6.3 125 _4
A B! Version A I I |
FB M6x16 Bf, 6x20 (ST E e | © ‘ o
For weld stud M6x16 or M6x20 =) o
N o= Tt -
N \4/ © |
3 1
X T X ‘|
= i
26 1JJ.4
. . 215
EEEALIARE
Strap can be broke off
5 21
2 144
B & Version B .
F M5x12 sRIRHEEE
For weld stud M5x12 o CDl 1%
AR %j_c» L —
TR T
I
54
e
C & Version C
g =-10) | ©
B2 PA SE14 Black PA rod guide 99
A B Version A 9401-2622
B B! Version B 9401-2518
C £ Version C 9401-2622C

BR
Index

B4ZR%1
Accessories

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
3
w



eeka

B}
Nut

FEBES ;9501

M16
o) 3
%E 0.69
3 ©
@8 g -4—-
%]
&8 ¥
&2
0.5
|l 0.69
STy, M19
g
\<’/"/ . \/
=
N
M22

27

4 RZERY Material

35

27.41

MEIKEF~=M3IDIEEIE , 5% E info@yeekaco.com

M22X1.5
M16 M9 f—— —

THEACARENR | AEEER |TUEERENR
$#8E Zinc die casting 9501-M1901 | 9501-M220101 | 9501-M220102 | 9501-M220103
24 Full brass 9501-M1602 9501-M1902
ZE5HM Stainless steel 9501-M2202

24

B

Accesories

FEES ;9501

BT FLAY 22.5x20.1 WARSSYUERTEER WARSSYUEREFT
For cutout 22.5x20.1 Pull tap perpendicular to cam Pull tab in-line with cam
1 s
@22.2% &
| @'\
) -
= (N
S| Af , jA S
5 N
N Q in
|28 a\g €
w
33
30.5 '
1 : T g : ooo (:
© /! = < = <
P i 421" © i 421" ©
BIE A-A
2813 PA
1EFFLAY22.5X20.1 For cutout 22.5X20.1 9501-4702
RS EMEREFT 1EFFLE3.5X516 9501-4704-1
Pull tab in-line with cam For cutout 13.5X216
RS EHERMER EFFLE13.5XD16 0501-4704-2
Pull tap perpendicular to cam For cutout 13.5X216
KA Large size
ERTFFLE 22.5¢20.1
For cutout 22.5x20.1

O
26
/N\BY Small size m’
ERTFLE 16x135 o~ — 1 Lo
For cutout 16x13.5 A
46 | 21 |
~
! | I
— 6
~ | ] ] v\'¢
- 221.5 @97
KB Large size 9401-4101
/NBY Small size 9401-4102

SN POr

BR
Index

B4ZR%1
Accessories

ﬁ To get product 3D models freely, Please contact info@yeekaco.com
S
S



eeka Accesorios yeeka

FEBES ¢ 9606

B

Index

BEFZR%1
Accessories

IRt —FEZiR

MEIKEF~=M3IDIEEIE , 5% E info@yeekaco.com

©
n
S
S
=

H
| ——
55
<_
©
=
$REESE M.S. zine plated
HBLHHE Screw size 2L Screw size
9601-M506 M5 X 6 9601-M606 M6 X 6
9601-M508 M5 X 8 9601-M608 M6 X 8
9601-M510 M5 X 10 9601-M610 M6 X 10
9601-M512 M5 X 12 9601-M612 M6 X 12
9601-M516 M5 X 16 9601-M616 M6 X 16
9601-M518 M5 X 18 9601-M618 M6 X 18
D1
D2 2D3.
SSPE
-
_ _ = |
o~ I
T +
=
4 .
’ |
. ‘ ‘
Q |
. Sy ny
[F D4
PRIEEE
M.S. zinc plated
L H1 H2 $ D1 D2 $D3 éDd M
9606-M8 15 33.3 17 32.6 20 6.3 16 8
9606-M10 18 415 21 41 25 8 20 10
9606-M12 22 51 26 50 30 10 25 12
9606-M16 27 60 30 60 35 12.5 30 16
9606-M20 30 71 35 72 4 16 35 20
9606-M22 34 84 43 81 44 18 40 22
9606-M24 38 90 45 90 50 20 45 24
9606-M30 45 110 55 110 60 25 60 30
9606-M36 55 131.5 65 133 70 31.5 70 36

BR

Index

To get product 3D models freely, Please contact info@yeekaco.com



yeeka

yeeka

xapu|
*®H

xapu|
*xH

wo9°0oeyaak@ojul Joejuod asea|d ‘Ajaaly sjopow qg }onpoad jab o)

woo-0oeyeakDojul 3 ' EITEEIQCTE o/ &) VREE Y




yeeka

5|

Index

BR
Index

25| Index

~aa3DIRBIE |, i5BXE info@yeekaco.com

FmRES
Product code

1100
1101
1102
1103
1104
1105
1106
1107
1108
110
113
114
1116
117
118
1120
122
1124
123
127
1128
129
1189
1190
191
1192
1194
1193

1201
1205
1209
1207
1208
1221
1222
1240
1241
1242
1244
1245
1246
1247
1250
1251
1252
1254
1256
1261
1262
1271
1272

1301
1310
1311
1312
1324
1316

1320
1321

Ag :

Page number
1A-001 ------ 1A-002
1A-003 ------ 1A-006
1A-007 ------ 1A-014
1A-015 ------ 1A-016
1A-017 ------ 1A-017
1A-018 ------ 1A-018
1A-019 ------ 1A-020
1A-021 ------ 1A-021
1A-022 ------ 1A-022
1A-023 ------ 1A-023
1A-024 ------ 1A-024
1A-025 ------ 1A-025
1A-026 ------ 1A-026
1A-027 ------ 1A-028
1A-029 ------ 1A-030
1A-031 ------ 1A-032
1A-033 ------ 1A-033
1A-034 ------ 1A-034
1A-035 ------ 1A-036
1A-037 ------ 1A-038
1A-039 ------ 1A-039
1A-039 ------ 1A-039
1A-040 ------ 1A-040
1A-041 ------ 1A-041
1A-041 ------ 1A-041
1A-042 ------ 1A-042
1A-042 ------ 1A-042
1A-043 ------ 1A-043
1B-001 ------ 1B-002
1B-003 ------ 1B-003
1B-003 ------ 1B-003
1B-004 ------ 1B-004
1B-004 ------ 1B-004
1B-005 ------ 1B-005
1B-006 ------ 1B-006
1B-007 ------ 1B-007
1B-008 ------ 1B-008
1B-009 ------ 1B-009
1B-010 ------ 1B-010
1B-011 ------ 1B-011
1B-012 ------ 1B-012
1B-013 ------ 1B-013
1B-014 ------ 1B-014
1B-014 ------ 1B-014
1B-015 ------ 1B-015
1B-015 ------ 1B-015
1B-016 ------ 1B-016
1B-017 ------ 1B-017
1B-018 ------ 1B-018
1B-019 ------ 1B-019
1B-020 ------ 1B-020
1C-001 ------ 1C-001
1C-002 ------ 1C-002
1C-002 ------ 1C-003
1C-004 ------ 1C-004
1C-004 ------ 1C-004
1C-005 ------ 1C-005
1C-006 ------ 1C-006
1C-006 ------ 1C-006

FRRE
Product code

1322
1325

1401
1402
1403
1406
1407
1410
1428
1412
1413
1415
1416
1417
1419
1418
1420
1421
1422
1423
1426
1427
1430
1431
1432
1435
1436
1437
1438
1439
1451
1462
1465

1601

1701
1702
1703
1704

1800
1801
1802

2101
2104
2102
2105
2106
2107
2112

2113
2114
2115
2116
2118
2120

s

Page number
1C-007 ------ 1C-007
1C-007 ------ 1C-007
1D-001 ------ 1D-003
1D-004 ------ 1D-006
1D-006 ------ 1D-006
1D-007 ------ 1D-007
1D-008 ------ 1D-008
1D-009 ------ 1D-009
1D-009 ------ 1D-009
1D-010 ------ 1D-010
1D-011 ------ 1D-011
1D-012 ------ 1D-012
1D-013 ------ 1D-013
1D-014 ------ 1D-014
1D-014 ------ 1D-014
1D-015 ------ 1D-015
1D-016 ------ 1D-017
1D-018 ------ 1D-018
1D-019 ------ 1D-020
1D-021 ------ 1D-022
1D-023 ------ 1D-024
1D-025 ------ 1D-026
1D-027 ------ 1D-027
1D-028 ------ 1D-028
1D-029 ------ 1D-029
1D-029 ------ 1D-029
1D-030 ------ 1D-033
1D-034 ------ 1D-034
1D-035 ------ 1D-035
1D-036 ------ 1D-036
1D-037 ------ 1D-037
1D-037 ------ 1D-037
1D-038 ------ 1D-038
1F-001 ------ 1F-001
1G-001 ------ 1G-001
1G-001 ------ 1G-001
1G-002 ------ 1G-002
1G-002 ------ 1G-002
1H-001 ------ 1H-002
1H-002 ------ 1H-002
1H-003 ------ 1H-003
2A-001 ------ 2A-007
2A-008 ------ 2A-008
2A-009 ------ 2A-010
2A-011 ------ 2A-011
2A-011 ------ 2A-011
2A-012 ------ 2A-012
2A-012 ------ 2A-012
2A-013 ------ 2A-013
2A-013 ------ 2A-013
2A-014 ------ 2A-014
2A-014 ------ 2A-014
2A-015 ------ 2A-015
2A-016 ------ 2A-016

5|

Index

yeeka

FmRS
Product code

2121
2122
2124
2123
2125
2126
2127
2128
2129
2132
2133
2135
2136

2201
2204
2206
2207
2208
2210
2211
2213
2214
2215

2305
2306
2307
2308
2309
2310
2311
2312
2313
2315
2316
2317
2318
2328
2324
2326
2327
2330
2332
2338

2401
2402
2404
2405
2406
2407
2408
2409
2410
2411
2412
2414
2416

3101

IS -

Page number
2A-017 ------ 2A-017
2A-018 ------ 2A-018
2A-018 ------ 2A-018
2A-019 ------ 2A-019
2A-020 ------ 2A-020
2A-020 ------ 2A-020
2A-021 ------ 2A-021
2A-022 ------ 2A-022
2A-022 ------ 2A-022
2A-022 ------ 2A-022
2A-023 ------ 2A-023
2A-023 ------ 2A-023
2A-024 ------ 2A-026
2B-001 ------ 2B-002
2B-003 ------ 2B-003
2B-003 ------ 2B-003
2B-004 ------ 2B-005
2B-006 ------ 2B-006
2B-007 ------ 2B-007
2B-007 ------ 2B-007
2B-008 ------ 2B-008
2B-008 ------ 2B-008
2B-008 ------ 2B-008
2C-001 ------ 2C-001
2C-001 ------ 2C-001
2C-002 ------ 2C-002
2C-003 ------ 2C-003
2C-004 ------ 2C-004
2C-004 ------ 2C-004
2C-005 ------ 2C-005
2C-006 ------ 2C-006
2C-006 ------ 2C-006
2C-007 ------ 2C-007
2C-008 ------ 2C-008
2C-009 ------ 2C-009
2C-010 ------ 2C-010
2C-010 ------ 2C-010
2C-011 ------ 2C-011
2C-012 ------ 2C-012
2C-012 ------ 2C-012
2C-013 ------ 2C-013
2C-013 ------ 2C-013
2C-014 ------ 2C-014
2D-001 ------ 2D-002
2D-002 ------ 2D-002
2D-003 ------ 2D-004
2D-004 ------ 2D-004
2D-005 ------ 2D-005
2D-005 ------ 2D-006
2D-007 ------ 2D-008
2D-008 ------ 2D-008
2D-009 ------ 2D-009
2D-009 ------ 2D-009
2D-010 ------ 2D-010
2D-010 ------ 2D-010
2D-011 ------ 2D-011
3A-001 ------ 3A-001

Fmws
Product code

3201
3202
3203
3204
3205
3206
3207

3301
3302
3303
3305
3307
3306

3401

3501

6101
6102
6103
6104
6105
6106

6201

6301

7201
7202
7203
7204
7205
7206
7207

7301
7302
7303

9100
9200
9301
9405
9401
9501
9606

s

Page number
3B-001 ------ 3B-001
3B-002 ------ 3B-002
3B-002 ------ 3B-002
3B-003 ------ 3B-003
3B-003 ------ 3B-003
3B-004 ------ 3B-004
3B-005 ------ 3B-005
3C-001 ------ 3C-001
3C-002 ------ 3C-002
3C-002 ------ 3C-002
3C-003 ------ 3C-003
3C-003 ------ 3C-003
3C-004 ------ 3C-004
3D-001 ------ 3D-001
3E-001 ------ 3E-001
6A-001 ------ 6A-001
6A-002 ------ 6A-002
6A-002 ------ 6A-002
6A-003 ------ 6A-003
6A-004 ------ 6A-004
6A-005 ------ 6A-005
6B-001 ------ 6B-001
6C-001 ------ 6C-001
7B-001 ------ 7B-001
7B-001 ------ 7B-001
7B-001 ------ 7B-001
7B-002 ------ 7B-002
7B-002 ------ 7B-002
7B-002 ------ 7B-002
7B-002 ------ 7B-002
7C-001 ------ 7C-001
7C-001 ------ 7C-001
7C-001 ------ 7C-001
9A-001 ------ 9A-004
9B-001 ------ 9B-001
9C-001 ------ 9C-002
9D-001 ------ 9D-001
9D-001 ------ 9D-003
9E-001 ------ 9E-002
9F-001 ------ 9F-001

BR
Index

23| Index

To get product 3D models freely, Please contact info@yeekaco.com



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22
	页 23
	页 24
	页 25
	页 26
	页 27
	页 28
	页 29
	页 30
	页 31
	页 32
	页 33
	页 34
	页 35
	页 36
	页 37
	页 38
	页 39
	页 40
	页 41
	页 42
	页 43
	页 44
	页 45
	页 46
	页 47
	页 48
	页 49
	页 50

